
MATHS

BOOKS - OBJECTIVE RD SHARMA ENGLISH

CIRCLES

Illustration

1. Find the equation of a circle whose centre is (2,-3) and radius 5.

A. 

B. 

C. 

D. none of these

Answer: B

W t h Vid S l ti

x2 + y2 + 4x − 6y − 12 = 0

x2y2 − 4x + 6y − 12 = 0

x2 + y2 − 6x + 4y − 12 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_l2Lttp70peuh


Watch Video Solution

2. The radius of the circle passing through the point (6, 2), two of whose

diameters are  and  is

A. 10

B. 

C. 6

D. 4

Answer: B

Watch Video Solution

x + y = 6 x + 2y = 4

2√5

3. The equation of a circle with origin as centre and passing through the

vertices of an equilateral triangle whose median is of length 3a is

A. x2 + y2 = 9a2

https://dl.doubtnut.com/l/_l2Lttp70peuh
https://dl.doubtnut.com/l/_EWFCW7uRD5LC
https://dl.doubtnut.com/l/_AdGh1NqTC2qJ


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 16a2

x2 + y2 = 4a2

x2 + y2 = a2

4. If the lines 2x-3y=5 and 3x-4y=7 are the diameters of a circle of area 154

square units, then obtain the equation of the circle.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2x − 2y − 62 = 0

x2 + y2 + 2x − 2y − 47 = 0

x2 + y2 − 2x + 2y − 47 = 0

x2 + y2 − 2x + 2y − 62 = 0

https://dl.doubtnut.com/l/_AdGh1NqTC2qJ
https://dl.doubtnut.com/l/_wEpxLnHR4uAJ


5. If the lines  and  lie along diameters of

a circle of circumference , then the equation of the circle is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x + 3y + 1 = 0 3x − y − 4 = 0

10π

x2 + y2 + 2x − 2y − 23 = 0

x2 + y2 − 2x − 2y − 23 = 0

x2 + y2 + 2x + 2y − 23 = 0

x2 + y2 − 2x + 2y − 23 = 0

6. If a circle has two of its diameters along the lines  and 

 and has area  , then the equation of the circle is

A. 

B. 

x + y = 5

x − y = 1 9π

x2 + y2 − 6x − 4y + 4 = 0

x2 + y2 − 6x − 4y − 3 = 0

https://dl.doubtnut.com/l/_wEpxLnHR4uAJ
https://dl.doubtnut.com/l/_rERxPNpCs0m6
https://dl.doubtnut.com/l/_54rm57rJUUaK


C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x − 4y − 4 = 0

x2 + y2 − 6x − 4y + 3 = 0

7. The equation of the circle passing through (4, 5) having the centre (2,

2), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 4x + 4y − 5 = 0

x2 + y2 − 4x − 4y − 5 = 0

x2 + y2 − 4x = 13

x2 + y2 − 4x − 4y + 5 = 0

https://dl.doubtnut.com/l/_54rm57rJUUaK
https://dl.doubtnut.com/l/_qwSrdn3A1Agn
https://dl.doubtnut.com/l/_najPDKTnyXqi


8. The centre of circle
 inscribed in a square formed by lines

 and 
 is
 a. 
 b. 
 c. 
 d.

A. (4, 7)

B. (7, 4)

C. (9, 4)

D. (4, 9)

Answer: A

Watch Video Solution

x2 − 8x + 12 = 0 y2 − 14y + 45 = 0 (4, 7) (7, 4) (9, 4)

(4, 9)

9. If the centroid of an equilateral triangle is (2, -2) and its one vertex is (-1,

1) , then the equation of its circumcircle is

A. 

B. 

x2 + y2 − 4x + 4y − 10 = 0

x2 + y2 + 4x − 4y + 10 = 0

https://dl.doubtnut.com/l/_najPDKTnyXqi
https://dl.doubtnut.com/l/_IRJ9efxCex59


C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 4x − 4y − 10 = 0

x2 + y2 + 4x + 4y + 10 = 0

10. I If a point  lies on the circle  then the locus of the

point  is

A. a straight line

B. an ellipse

C. a parabola

D. none of these

Answer: B

Watch Video Solution

(α, β) x2 + y2 = 1

(3α. + 2, β),

https://dl.doubtnut.com/l/_IRJ9efxCex59
https://dl.doubtnut.com/l/_Lur83Vs8PFnC
https://dl.doubtnut.com/l/_GQD1XrbbuLFZ


11. The equations of the circle which touches the axis of y at the origin

and passes through (3, 4) , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2(x2 + y2) − 3x = 0

3(x2 + y2) − 25x = 0

4(x2 + y2) − 25x = 0

4(x2 + y2) − 25x + 10 = 0

12. The equation of the circle of radius 5 and touching the coordinates

axes in third quadrant, is

A. 

B. 

C. 

(x − 5)2 + (y + 5)2 = 25

(x + 4)2 + (y + 4)2 = 25

(x + 6)2 + (y + 6)2 = 25

https://dl.doubtnut.com/l/_GQD1XrbbuLFZ
https://dl.doubtnut.com/l/_naUiBfLFCKih


D. 

Answer: D

Watch Video Solution

(x + 5)2 + (y + 5)2 = 25

13. A circle of radius  units touches the co ordinate axes in the first

quadrant. If the circle makes a complete rotation on the x-axis along the

positive direction of the x-axis, then the equation of the circle in the new

position is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2

x2 + y2 − 4(x + y) − 8πx + (4π + 2)2 = 0

x2 + y2 − 4x − 4y + (4π + 2)2 = 0

x2 + y2 − 8πx − 4y + (4π + 2)2 = 0

https://dl.doubtnut.com/l/_naUiBfLFCKih
https://dl.doubtnut.com/l/_wBjny4Gvclko


14. Equation of a circle which passes through (3,6) and touches the axes is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 + 6x + 6y + 3 = 0

x2 + y2 − 6x − 6y − 9 = 0

x2 + y2 − 6x − 6y + 9 = 0

15. The equations of the circles which touch both the axes and the line x =

a are

A. 

B. 

C. 

D. none of these

x2 + y2 ± ax ± ay + = 0
a2

4

x2 + y2 + ax ± ay + = 0
a2

4

x2 + y2 − ax ± ay + = 0
a2

4

https://dl.doubtnut.com/l/_CoqdCcSfwSQ1
https://dl.doubtnut.com/l/_WGaynDwKeHTU


Answer: C

Watch Video Solution

16. A circle of radius 6 units touches the coordinates axes in the first

quadrant. Find the equation of its image in the line mirror 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = 0.

x2 + y2 − 12x + 12y + 36 = 0

x2 + y2 − 12x − 12y + 36 = 0

x2 + y2 + 12x − 12y + 36 = 0

x2 + y2 + 12x + 12y + 36 = 0

17. The locus of centre of the circles which touch both the axes is given by

:

https://dl.doubtnut.com/l/_WGaynDwKeHTU
https://dl.doubtnut.com/l/_0qQf9FexsYnk
https://dl.doubtnut.com/l/_NGzCab39nW0v


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − y2 = 0

x2 + y2 = 0

x2 − y2 = 1

x2 + y2 = 1

18. Find the equation of the image of the circle


in the line mirror 

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 + 8x − 16y + 64 = 0 x = 0.

x2 + y2 − 8x − 16y + 64 = 0

x2 + y2 − 8x + 16y + 64 = 0

x2 + y2 + 8x + 16y + 64 = 0

x2 + y2 + 8x − 16y + 64 = 0

https://dl.doubtnut.com/l/_NGzCab39nW0v
https://dl.doubtnut.com/l/_PoZgTAsfPhq4


Watch Video Solution

19. Equation of circle symmetric to the circle

 about the line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 16x − 24y + 183 = 0 4x + 7y + 13 = 0

(x + 16)2 + (y + 2)2 = 52

(x − 16)2 + (y − 2)2 = 52

(x + 16)2 + (y − 2)2 = 52

(x + 16)2 + (y + 2)2 = 52

20. If an equilateral triangle is inscribed in the circle , the

length of its each side is

A. 

x2 + y2 = a2

√2a

https://dl.doubtnut.com/l/_PoZgTAsfPhq4
https://dl.doubtnut.com/l/_E9rTmtl0yacT
https://dl.doubtnut.com/l/_JMnIIm8VhkiO


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

a
√3

2

√3a

21. If , then the equation  will

represent

A. a circle of radius g

B. a circle of radius f

C. a circle of diameter 

D. a circle of radius 0

Answer: D

Watch Video Solution

g2 + f 2 = c x2 + y2 + 2gx + 2fy + c = 0

√c

https://dl.doubtnut.com/l/_JMnIIm8VhkiO
https://dl.doubtnut.com/l/_j5BgjahYbQ1X


22. The equation 

 will

represent a circle, if 

A. 1

B. 4

C. 2

D. none of these

Answer: A

Watch Video Solution

λ2x2 + (λ2 − 5λ + 4)xy + (3λ − 2)y2 − 8x + 12y − 4 = 0

λ =

23. The coordinates of the centre and radius of the circle represented by

the equation 

 are(3 − 2λ)x2 + λy2 − 4x + 2y − 4 = 0

https://dl.doubtnut.com/l/_j5BgjahYbQ1X
https://dl.doubtnut.com/l/_ES9IexqlczMk
https://dl.doubtnut.com/l/_Iu2UI4wEaktS


A. (2, 1), 3

B. (-2, 1), 3

C. (2, 1), 3

D. (2, -1), 1

Answer: C

Watch Video Solution

24. If  is the

equation of a circle, then its radius is

A. 1

B. 3

C. 

D. none of these

Answer: B

3x2 + 2λxy + 3y2 + (6 − λ)x + (2λ − 6)y − 21 = 0

2√2

https://dl.doubtnut.com/l/_Iu2UI4wEaktS
https://dl.doubtnut.com/l/_sFMRqjZjNG2g


Watch Video Solution

25. If the area of the circle  is  square

units, then the value of k is

A. 4

B. 16

C. -16

D. 

Answer: C

Watch Video Solution

4x2 + 4y2 − 8x + 16y + k = 0 9π

±16

26. The point diametrically opposite to the point P(1, 0) on the circle

 is

A. (-3, -4)

x2 + y2 + 2x + 4y − 3 = 0

https://dl.doubtnut.com/l/_sFMRqjZjNG2g
https://dl.doubtnut.com/l/_vR71xcmPNQs1
https://dl.doubtnut.com/l/_dxlDCs5cuv5d


B. (3, 4)

C. (3, -4)

D. (-3, 4)

Answer: A

Watch Video Solution

27. The straight line
 
 cuts the coordinate axes at 
 and 
 .

Find the equation of the circle passing through 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x

a

y

b
A B

O(0, 0), AandB.

x2 + y2 − ax − by = 0

x2 + y2 − 2ax − 2by = 0

x2 + y2 + ax + by = 0

x2 + y2 = a2 + b2

https://dl.doubtnut.com/l/_dxlDCs5cuv5d
https://dl.doubtnut.com/l/_FVnMoBpNyHoP


28. If the points  and  are concyclic, then  is

equal to

A. -1

B. 1

C. 2

D. -2

Answer: B

Watch Video Solution

(0, 0), (1, 0), (0, 1) (t, t) t

29. Find the equation of the circle passing through 
 and

having the smallest possible radius.

A. 

B. 

(1, 0)and(0, 1)

x2 + y2 + x + y − 2 = 0

x2 + y2 = x + y

https://dl.doubtnut.com/l/_FVnMoBpNyHoP
https://dl.doubtnut.com/l/_VOOJ1GxMpqaO
https://dl.doubtnut.com/l/_xTDADvwURQFq


C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 1

30. The  represents a circle

whose centre is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − x1)(x − x2) + (y − y1)(y − y2 = 0

( , )
x1 − x2

2

y1 − y2

2

( , )
x1 + x2

2

y1 + y2

2

(x1, y2)

(x2, y2)

https://dl.doubtnut.com/l/_xTDADvwURQFq
https://dl.doubtnut.com/l/_fc7jQH0Wezvq
https://dl.doubtnut.com/l/_mJkinZ8LBbpe


31. The circle described on the line joining the points  as

diameter cuts the x-axis in points whose abscissae are roots of the

equation

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, 1), (a, b)

x2 + ax + b = 0

x2 − ax + b = 0

x2 + ax − b = 0

x2 − ax − b = 0

32. If the abscissa and ordinates of two points 
 are the roots of

the equations 
 and 
 , respectively,

then find the equation of the circle with 
as diameter.

A. 

PandQ

x2 + 2ax − b2 = 0 x2 + 2px − q2 = 0

PQ

x2 + y2 + 2ax + 2py − b2 − q2 = 0

https://dl.doubtnut.com/l/_mJkinZ8LBbpe
https://dl.doubtnut.com/l/_DhbbkZ6cZd40


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2ax − 2py + b2 + q2 = 0

x2 + y2 − 2ax − 2py − b2 − q2 = 0

x2 + y2 + 2ax + 2py + b2 + q2 = 0

33. If one end of the diameter is (1, 1) and the other end lies on the line


, then find the locus of the center of the circle.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x + y = 3

x + y = 1

2(x − y) = 5

2x + 2y = 5

https://dl.doubtnut.com/l/_DhbbkZ6cZd40
https://dl.doubtnut.com/l/_KKWDbcJFzIh3


34. Two rods of lengths 
 slide along the 
 and y-axis ,

respectively, in such a manner that their ends are concyclic. Find the locus

of the
center of the circle passing through the endpoints.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

aandb x −

4(x2 + y2) = a2 + b2

4(x2 − y2) = a2 − b2

x2 − y2 = a2 − b2

x2 − y2 = 4(a2 − b2)

35. A circle touches a given straight line and cuts off a constant length 2d

from another straight line perpendicular to the first straight line. The

locus of the centre of the circle, is

https://dl.doubtnut.com/l/_KKWDbcJFzIh3
https://dl.doubtnut.com/l/_bTeVpEVSRKBk
https://dl.doubtnut.com/l/_dD1cbxLfYwua


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 − x2 = d2

x2 + y2 = d2

xy = d2

36. Circles (s) touching the x-axis at a distance of 3 units from the origin

and having an intercept of length  on the y-axis is (are)

A. 

B. 

C. 

D. 

Answer: A

2√7

x2 + y2 − 6x ± 8y + 9 = 0

x2 + y2 − 6x ± 7y + 9 = 0

x2 + y2 + 6x ± 8y + 9 = 0

x2 + y2 − 8x ± 6y + 9 = 0

https://dl.doubtnut.com/l/_dD1cbxLfYwua
https://dl.doubtnut.com/l/_zQU0vZHGvF9H


Watch Video Solution

37. If the point  lies inside the circle 

, then find range of .

A. (-1, 4)

B. 

C. 

D. [-1, 4]

Answer: A

Watch Video Solution

(λ, − λ) x2 + y2 − 4x + 2y − 8 = 0

λ

( − ∞, − 1)

(4, ∞)

38. The set of values of 'a' for which the point (a-1, a+1) lies outside the

circle  and inside the circle ,

is

x2 + y2 = 8 x2 + y2 − 12x + 12y − 62 = 0

https://dl.doubtnut.com/l/_zQU0vZHGvF9H
https://dl.doubtnut.com/l/_NBzqC5QXxZ5U
https://dl.doubtnut.com/l/_tDrdWt5FQBhO


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

( − ∞, − √3) ∪ (√3, ∞)

( − 3√2, 3√2)

( − 3√2, − √3) ∪ (√3, 3√2)

39. If (2, 4) is a point interior to the circle 

and the circle does not cut the axes at any point, then

A. 

B. 

C. 

D. none of these

Answer: A

x2 + y2 − 6x − 10y + λ = 0

λ ∈ (25, 32)

λ ∈ (9, 32)

λ ∈ (32, ∞)

https://dl.doubtnut.com/l/_tDrdWt5FQBhO
https://dl.doubtnut.com/l/_Ag8OSw2Il9iM


Watch Video Solution

40. The set of values of a for which the point  is an interior

point of the larger segment of the circle 

made by the chord , is

A. (-1,9/5)

B. (0, 9/5)

C. 

D. none of these

Answer: B

Watch Video Solution

(2a, a + 1)

x2 + y2 − 2x − 2y − 8 = 0

x − y + 1 = 0

(0, ∞)

41. about to only mathematics

A. 2

https://dl.doubtnut.com/l/_Ag8OSw2Il9iM
https://dl.doubtnut.com/l/_QCHFBTBq6cwt
https://dl.doubtnut.com/l/_GNlaTkuWKu17


B. 3

C. 4

D. 5

Answer: A

Watch Video Solution

42.  aer parametric angles of three points P,Q and R

respectively, on the circle  and A is the point (-1,0). If the

lengths of the chords AP,AQ and AR are in GP, then

 are in

A. AP

B. GP

C. HP

D. none of these

α, β and γ

x2 + y2 = 1

cos( ), cos( ) and cos( )
α

2

β

2

γ

2

https://dl.doubtnut.com/l/_GNlaTkuWKu17
https://dl.doubtnut.com/l/_SPefzBP4CAwo


Answer: B

Watch Video Solution

43. The centre of the circle , is

A. (3, 3)

B. (2, -1)

C. (-2, 1)

D. (-1, 2)

Answer: B

Watch Video Solution

x = 2 + 3 cos θ, y = 3 sin θ − 1

44. about to only mathematics

A. α2 + β2

https://dl.doubtnut.com/l/_SPefzBP4CAwo
https://dl.doubtnut.com/l/_UCcAcBip7jDh
https://dl.doubtnut.com/l/_VTDtDUcaaHm8


B. 

C. 

D. 

Answer: C

Watch Video Solution

α2 + β2 − a2

a2

α2 + β2 + a2

45. If the line  cuts the circle  at two real

and distinct points then total values of m are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = mx − (m − 1) x2 + y2 = 4

m ∈ (1, 2)

m = 1

m = 2

m ∈ R

https://dl.doubtnut.com/l/_VTDtDUcaaHm8
https://dl.doubtnut.com/l/_5QGphSpmavNT


46. If the line 
 does not intersect eh circle 


then write the set of values of taken by 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y = mx

(x + 10)2 + (y + 10)2 = 180 m.

m ∈ ( − 2, ∞)

m ∈ ( − ∞, − 1/2)

m ∈ ( − 2, − 1/2)

47. Find the range of values of 
for which the line 
cuts the

circle 
at distinct or coincident points.

A. 

B. 

m y = mx + 2

x2 + y2 = 1

( − ∞, − √3] ∪ [√3, ∞)

[ − √3, √3]

https://dl.doubtnut.com/l/_5QGphSpmavNT
https://dl.doubtnut.com/l/_c2WEujrMZVeI
https://dl.doubtnut.com/l/_ljwWS5DlATv2


C. 

D. none of these

Answer: A

Watch Video Solution

[√3, ∞)

48. If the circle 
 intersects the line 


at two distinct points, then find the values of .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 4x − 8y − 5 = 0

3x − 4y = m m

15 < m < 65

35 < m < 85

−85 < m < − 35

−35 < m < 15

https://dl.doubtnut.com/l/_ljwWS5DlATv2
https://dl.doubtnut.com/l/_IMViQbeIwcX0
https://dl.doubtnut.com/l/_I4zY74fsYa49


49. The line  meets the circle  at only one

point, if 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x − 2y = k x2 + y2 = 4r2

k2 =

20r2

52r2

r252

9

r220

9

50. If  touches the circle  then point 

lies on (a) straight line (b) circle (c) parabola (d) ellipse

A. a straight line

B. a circle

C. a parabola

+ = 1
x

α

y

β
x2 + y2 = a2 ( , )

1

α

1

β

https://dl.doubtnut.com/l/_I4zY74fsYa49
https://dl.doubtnut.com/l/_xysD7FaGbR99


D. an ellipse

Answer: B

Watch Video Solution

51. The locus of the point  for which the line 

touches the circle , is

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: A

Watch Video Solution

P (h, k) hx + ky = 1

x2 + y2 = 4

https://dl.doubtnut.com/l/_xysD7FaGbR99
https://dl.doubtnut.com/l/_KJvrg9ScPVUn


52. If the line  be a tangent to the circle 

, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y cosα = x sinα + a cosα

x2 + y2 = a2

sin2 α = 1

cos2 α = 1

sin2 α = a2

cos2 α = a2

53. Let  be a straight line passing through  be x+y=1. If

the intercepts made by the circel  are

equal, then which of the following equations can represent ?

A. 

B. 

L1 (0, 0) and L2

x2 + y2 − x + 3y = 0onL1 and L2

L1

x + y = 0, x − 7y = 0

x − y = 0, x + 7y = 0

https://dl.doubtnut.com/l/_0lNXyRbfZrVO
https://dl.doubtnut.com/l/_KZUHHNsqGtLB


C. 

D. 

Answer: B

Watch Video Solution

7x + y = 0

x − 7y = 0

54. If the line 
 touches the circle 
 , then

prove that 
lies on a circle.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

lx + my − 1 = 0 x2 + y2 = a2

(l, m)

x2 + y2 = a− 2

x2 + y2 = a4

x2 + y2 = a− 1

https://dl.doubtnut.com/l/_KZUHHNsqGtLB
https://dl.doubtnut.com/l/_pM9w0eQQ2b7w
https://dl.doubtnut.com/l/_mhb246DWbwz9


55. If a chord of a the circle  makes equal intercepts of

length of l on the co-ordinate axes, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 32

l ∈ ( − 8, 8)

l ∈ ( − 4√2, 4√2)

l ∈ (0. 8)

l ∈ ( − 8, 0)

56. Find the equation of the chord of the circle 
 passing

through the point (2, 3) farthest from the center.

A. 

B. 

C. 

x2 + y2 = a2

2x + 3y = 13

3x − y = 3

−2y + 4 = 0

https://dl.doubtnut.com/l/_mhb246DWbwz9
https://dl.doubtnut.com/l/_nKd9oWrIRqrx


D. 

Answer: C

Watch Video Solution

x − y + 1 = 0

57. about to only mathematics

A. 

B. 

C. 3

D. 2

Answer: C

Watch Video Solution

√3

√2

https://dl.doubtnut.com/l/_nKd9oWrIRqrx
https://dl.doubtnut.com/l/_GI956tyiS0TP


58. A straight line moves such that the algebraic sum of the

perpendiculars
 drawn to it from two fixed points is equal to 
 . Then,

then straight line always touches a fixed circle of radius.
 
(b) 
(c) 
 (d)

none of these

A. 2k

B. k/2

C. k

D. none of these

Answer: C

Watch Video Solution

2k

2k
k

2
k

59. Find the equation of the tangent to the circle

 at 

A. 

x2 + y2 − 30x + 6y + 109 = 0 (4, − 1)

11x − 2y − 46 = 0

https://dl.doubtnut.com/l/_wCHbyaR8zXHj
https://dl.doubtnut.com/l/_ojXYwKF4Mm9v


B. 

C. 

D. 

Answer: A

Watch Video Solution

11x − 3y − 47 = 0

10x − 3y − 43 = 0

11x + 2y − 42 = 0

60. Find the equation of the tangent to the circle


 which makes equal intercepts on the

positive coordinates axes.

A. 

B. 

C. 

D. 

Answer: B

x2 + y2 + 4x − 4y + 4 = 0

x + y = 2

x + y = 2√2

x + y = 4

x + y = 8

https://dl.doubtnut.com/l/_ojXYwKF4Mm9v
https://dl.doubtnut.com/l/_8rS1wHuD3aN9


Watch Video Solution

61. If the tangent from a piont P to the circle  is

perpendicular to the tangent from P to  then the locus of P

is a circle of radius 

A. a circle of radius 2

B. a circle of radius 4

C. a circle of radius 3

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 1

x2 = y2 = 3

:

62. The locus of the point of intersection of perpendicular tangents to

the circles  and  , isx2 + y2 = a2 x2 + y2 = b2

https://dl.doubtnut.com/l/_8rS1wHuD3aN9
https://dl.doubtnut.com/l/_f67ZUEBpbrie
https://dl.doubtnut.com/l/_sWWp0ca7eioW


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = a2 − b2

x2 + y2 = a2 + b2

x2 + y2 = (a + b)2

63. about to only mathematics

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 4a2

3(x2 + y2) = a2

3(x2 + y2) = 4a2

4(x2 + y2) = 3a2

https://dl.doubtnut.com/l/_sWWp0ca7eioW
https://dl.doubtnut.com/l/_FJti0KMNzNt4


64. If  and  are two tangents to a

circle, then the radius the circle, is

A. 1

B. 2

C. 4

D. 6

Answer: A

Watch Video Solution

5x − 12y + 10 = 0 12y − 5x + 16 = 0

65. The equation of the tangent to the circle 
 passing

through 
 is
 (a) 
 (b) 
 (c) 


(d) 

A. 

x2 + y2 = 25

( − 2, 11) 4x + 3y = 25 3x + 4y = 38

24x − 7y + 125 = 0 7x + 24y = 250

4x + 3y = 25

https://dl.doubtnut.com/l/_FJti0KMNzNt4
https://dl.doubtnut.com/l/_oo9TKkEgkkQa
https://dl.doubtnut.com/l/_8fXNTubfSi8O


B. 

C. 

D. 

Answer: A

Watch Video Solution

3x + 4y = 38

24x + 7y + 125 = 0

7x + 24y = 230

66. If the line hx + ky = 1 touches , then the locus of the

point (h, k) is a circle of radius

A. a

B. 1/a

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = a2

√a

1/√a

https://dl.doubtnut.com/l/_8fXNTubfSi8O
https://dl.doubtnut.com/l/_joDsznh3BmXP


67. The area of the triangle formed by the tangent at the point (a,b) to

the circle  and the coordinate axes is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = r2

r4

2ab

r4

2|ab|

r4

ab

r4

|ab|

68. Equation of the tangent to the circle ,at the point ( 1,-1) ,whose centre

is the point of intersection of the straight lines & is 

A. 3x-y-4=0

B. x+4y+3=0

x − y1 2x + y = 3 :

https://dl.doubtnut.com/l/_joDsznh3BmXP
https://dl.doubtnut.com/l/_vixm0J2Ibr6I
https://dl.doubtnut.com/l/_IX376j6kbV7J


C. x-3y-4=0

D. 4x+y-3=0

Answer: B

Watch Video Solution

69. If the line 
 touches the circle at the point 
 and

the centre of the circle lies in the line 
Find the equation

of the circle.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x − y + 1 = 0 (2, 5)

x + y − 9 = 0.

x2 + y2 − 12x + 6y + 5 = 0

x2 + y2 − 12x − 6y − 5 = 0

x2 + y2 + 12x + 6y + 15 = 0

x2 + y2 − 12x − 6y + 25 = 0

https://dl.doubtnut.com/l/_IX376j6kbV7J
https://dl.doubtnut.com/l/_5RYSPx8bQTwP


70. If the line  is tangent at point  and the line 

 is tangent at the point  to a circle then equation of

circle

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x − 3y = − 12 ( − 3, 0)

3x + 4y = 16 (4, 1)

x2 + y2 − 2x + 6y − 15 = 0

x2 + y2 − 2x + 6y − 20 = 0

x2 + y2 + 2x + 6y − 15 = 0

x2 + y2 − 2x − 6y − 15 = 0

71. Find the equation of the circle which touches the circle

 externally and to which the lines 

 are normals.

A. 

x2 + y2 − 6x + 6y + 17 = 0

x2 − 3xy − 3x + 9y = 0

x2 + y2 − 6x − 2y − 1 = 0

https://dl.doubtnut.com/l/_5RYSPx8bQTwP
https://dl.doubtnut.com/l/_eTNzKxV7VMW2
https://dl.doubtnut.com/l/_BBeyZyAPyK3n


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 6x − 2y + 1 = 0

x2 + y2 + 6x + 2y + 1 = 0

x2 + y2 − 6x + 2y + 1 = 0

72. about to only mathematics

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2√3

3√2

√6

https://dl.doubtnut.com/l/_BBeyZyAPyK3n
https://dl.doubtnut.com/l/_KVnUzDozUhjb
https://dl.doubtnut.com/l/_M6IK1J0G6upE


73. Find the equation of the tangents through (7,1) to the circle

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 25

3x + 4y − 25 = 0, 4x − 3y − 25 = 0

4x + 3y − 31 = 0, 3x − 4y − 17 = 0

3x − 2y − 19 = 0, 2x + 3y − 17 = 0

74. Find the angle between the two tangents from the origin to the circle

A. 

B. 

C. 

(x − 7)2 + (y + 1)2 = 25

π

4

π

3

π

2

https://dl.doubtnut.com/l/_M6IK1J0G6upE
https://dl.doubtnut.com/l/_6xe1njEFNmws


D. 

Answer: C

Watch Video Solution

2π

3

75. Angle at which the circle  can be seen from  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 16 (8, 0)

30∘

60∘

150∘

120∘

https://dl.doubtnut.com/l/_6xe1njEFNmws
https://dl.doubtnut.com/l/_IpjXpQWYJZ2F


76. The angle between a pair of tangents from a point P to the circe

 is . Find the equation

of the locus of the point P.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 4x − 6y + 9 sin2 α + 13 cos2 α = 0 2α

x2 + y2 + 4x − 6y + 4 = 0

x2 + y2 + 4x − 6y − 9 = 0

x2 + y2 + 4x − 6y − 4 = 0

x2 + y2 + 4x − 6y + 9 = 0

77. The equation of the tangents drawn from the origin to the circle

 are

A. 

B. 

x2 + y2 − 2rx − 2hy + h2 = 0

h = ± r

h = ± 2r

https://dl.doubtnut.com/l/_rAcTb9igO4L7
https://dl.doubtnut.com/l/_Z3BrDvvGJ41B


C. 

D. 

Answer: A

Watch Video Solution

h2 + r2 = 1

h = ± 3r

78. The number of real tangents that can be drawn from (2, 2) to the circle

, is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

x2 + y2 − 6x − 4y + 3 = 0

https://dl.doubtnut.com/l/_Z3BrDvvGJ41B
https://dl.doubtnut.com/l/_jJeR0gClXTLQ
https://dl.doubtnut.com/l/_iOWxbJu8Kw95


79. Tangents drawn from the point (4, 3) to the circle

 are inclined at an angle

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 2x − 4y = 0

π/6

π/4

π/3

π/2

80. Find the angle between the two tangents from the origin to the circle

A. 

B. 

C. 

(x − 7)2 + (y + 1)2 = 25

π/3

π/6

π/2

https://dl.doubtnut.com/l/_iOWxbJu8Kw95
https://dl.doubtnut.com/l/_m4a4mrCO5uOc


D. 

Answer: C

Watch Video Solution

π/8

81. The length of the tangent to the circle 

from (-1, -3), is

A. 

B. 

C. 4

D. 8

Answer: B

Watch Video Solution

x2 + y2 − 2x − y − 7 = 0

√8

2√2

https://dl.doubtnut.com/l/_m4a4mrCO5uOc
https://dl.doubtnut.com/l/_r2h480WMBmjx


82. The length of tangents from (0,0) to the circle

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2(x2 + y2) + x − y + 5 = 0

√5

√5/2

√2

√5/2

83. Find the length of the tangent drawn from any point on the circle


 to the circle 

A. 

B. 

x2 + y2 + 2gx + 2fy + c1 = 0

x2 + y2 + 2gx + 2fy + c2 = 0

c1 − c

c − c1

https://dl.doubtnut.com/l/_5jQNNcXL39oz
https://dl.doubtnut.com/l/_Vk9KYn9sXY93


C. 

D. 

Answer: D

Watch Video Solution

√c − c1

√c1 − c

84. The lengths of the tangents from any point on the circle

 to the two circles 


 


 are in the ratio

A. 

B. 

C. 

D. none of these

Answer: A

W t h Vid S l ti

15x2 + 15y2 − 48x + 64y = 0

5x2 + 5y2 − 24x + 32y + 75 = 0

5x2 + 5y2 − 48x + 64y = 0

1: 2

2: 3

3: 4

https://dl.doubtnut.com/l/_Vk9KYn9sXY93
https://dl.doubtnut.com/l/_a5pbIjpyLKTJ


Watch Video Solution

85. If the distances from the origin of the centers of three circles


 are in GP, then prove that the

lengths of the tangents drawn to them
 from any point on the circle


are in GP.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + 2λx − c2 = 0, (i = 1, 2, 3),

x2 + y2 = c2

86. The locus of a point which moves such that the tangents from it to

the two circles  and x2 + y2 − 5x − 3 = 0 3x2 + 3y2 + 2x + 4y − 6 = 0

https://dl.doubtnut.com/l/_a5pbIjpyLKTJ
https://dl.doubtnut.com/l/_pQD8YCqim3b1
https://dl.doubtnut.com/l/_KPWIa9JXUs0h


are equal, is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

:

2x2 + 2y2 + 7x + 4y − 3 = 0

17x + 4y + 3 = 0

4x2 + 4y2 − 3x + 4y − 9 = 0

13x − 4y + 15 = 0

87. Prove that the angle between the tangents from 
 to the circle 


is 
, where 

A. 

B. 

C. 

D. none of these

(α, β)

x2 + y2 = a2 2 tan− 1( )
a

√S1

S1 = α2 + β2 − a2

tan− 1( )
a

√S1

2 tan− 1( )
a

√S1

2 tan− 1( )
√S1

a

https://dl.doubtnut.com/l/_KPWIa9JXUs0h
https://dl.doubtnut.com/l/_l0P5mVYFtzMR


Answer: B

Watch Video Solution

88. about to only mathematics

A. 4

B. 

C. 5

D. 

Answer: C

Watch Video Solution

2√5

3√5

89. If two tangents are drown from a point on the circle  to

the circle , then find the anlge between the tangents.

x2 + y2 = 50

x2 + y2 = 25

https://dl.doubtnut.com/l/_l0P5mVYFtzMR
https://dl.doubtnut.com/l/_DGCwVZiFX334
https://dl.doubtnut.com/l/_OvHoZlrpeKlw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

45∘

60∘

90∘

120∘

90. Tangents are drawn from a point on the circle

 to the circle .

The angle between the tangents, is

A. 

B. 

C. 

D. 

x2 + y2 − 4x + 6y − 37 = 0 x2 + y2 − 4x + 6y − 12 = 0

π

4

π

3

π

6

π

2

https://dl.doubtnut.com/l/_OvHoZlrpeKlw
https://dl.doubtnut.com/l/_QlxbrKbYnQlB


Answer: D

Watch Video Solution

91. If the chord of contact of the tangents drawn from a point on the

circle 
 to the circle 
 touches the circle 


, then prove that 
and 
are in GP.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = a2 x2 + y2 = b2

x2 + y2 = c2 a, b c

https://dl.doubtnut.com/l/_QlxbrKbYnQlB
https://dl.doubtnut.com/l/_N3N3lxUNpPW3


92. If the straight line 
intersects the circle 

at point 
, then find the coordinates of the point of intersection of

the
tangents drawn at 
to the circle 

A. (25, -50)

B. (-25, 50)

C. (-25, -50)

D. (25, 50)

Answer: B

Watch Video Solution

x = 2y + 1 = 0 x2 + y2 = 25

PandQ

PandQ x2 + y2 = 25.

93. The range of g so that we have always a chord of contact of tangents

drawn from a real point  to the circle ,

is

A. (-3, 0)

(α, α) x2 + y2 + 2gx + 4y + 2 = 0

https://dl.doubtnut.com/l/_gfVijaNJJyvT
https://dl.doubtnut.com/l/_TZr03sf8AEiS


B. (-4, 1)

C. (-4, 0)

D. none of these

Answer: C

Watch Video Solution

94. Find the condition that the chord of contact of tangents from the

point  to the circle  should subtend a right angle at

the centre. Hence find the locus of .

A. 

B. 

C. 

D. none of these

Answer: C

(α, β) x2 + y2 = a2

(α, β)

α2 + β2 =
a2

2

α2 + β2 = a2

α2 + β2 = 2a2

https://dl.doubtnut.com/l/_TZr03sf8AEiS
https://dl.doubtnut.com/l/_6CD4vLo82fQi


Watch Video Solution

95. Tangents are drawn from the point (h,k) to ^circle ;

Prove that the area of the triangle formed by them and the straight line

joining their point of contact is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = a2

a(h2 + k2 − a2)
3
2

h2 + k2

(h2 + k2 − a2)
3 / 2

h2 + k2

a(h2 + k2 − a2)
1 / 2

h2 + k2

a(h2 + k2 − a2)
1 / 2

h2 + k2

(h2 + k2 − a2)
3 / 2

a(h2 + k2)

96. From the point P(3, 4) tangents PA and PB are drawn to the circle

. The area of  PAB in square units, isx2 + y2 + 4x + 6y − 12 = 0 Δ

https://dl.doubtnut.com/l/_6CD4vLo82fQi
https://dl.doubtnut.com/l/_AwYKLPdSPP42
https://dl.doubtnut.com/l/_r8xQlHjvNpt5


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1323

42

1715
74

926

17

1409
13

97. The equation of the chord of the circle  which

is bisected at the point (5, -3), is

A. 2x+y-7=0

B. x+2y+1=0

C. 2x-y-13=0

D. x-2y-11=0

Answer: A

x2 + y2 − 6x + 8y = 0

https://dl.doubtnut.com/l/_r8xQlHjvNpt5
https://dl.doubtnut.com/l/_4JBpDrTzAjrd


Watch Video Solution

98. Find the middle point of the chord intercepted on line

 by circle .

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

lx + my + n = 0 x2 + y2 = a2

( , )
− l

l2 + m2

−m

l2 + m2

( , )
−ln

l2 + m2

−mn

l2 + m2

( , )
− l

n(l2 + m2)

−m

n(l2 + m2)

99. Find the locus of the midpoint of the chords of the circle


which subtend a right angle at the point 

A. 

x2 + y2 = a2 (0, 0).

x2 + y2 =
a2

2

https://dl.doubtnut.com/l/_4JBpDrTzAjrd
https://dl.doubtnut.com/l/_bwVx5EXDkv1l
https://dl.doubtnut.com/l/_yCsitAz6BGc1


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 2a2

x2 + y2 =
a2

4

100. The locus of the middle points of chords of the circle 

which are parallel to the line , is

A. x+2y=0

B. 2x+y=0

C. x-2y=0

D. 2x-y=0

Answer: B

Watch Video Solution

x2 + y2 = 25

x − 2y + 3 = 0

https://dl.doubtnut.com/l/_yCsitAz6BGc1
https://dl.doubtnut.com/l/_pM4dYkTHUNJG


101. If the line 
 touches the circle 
 , then

prove that 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

lx + my + n = 0 x2 + y2 = a2

(l2 + m2)a2 = n2.

( , )
a2l

n

a2m

n

(a , )
−a2l

n

−a2m

n

( , )
−a2n

n

−a2n

m

102. The pole of a straight line with respect to the circle  lies

on the circle . If the straight line touches the circle 

, then

A. 

x2 + y2 = a2

x2 + y2 = 9a2

x2 + y2 = r2

x2 + y2 = 9a2

https://dl.doubtnut.com/l/_pM4dYkTHUNJG
https://dl.doubtnut.com/l/_wyeACQypQTjy
https://dl.doubtnut.com/l/_Bqbeep1vRSXM


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 2a2

9(x2 + y2) = a2

4(x2 + y2) = 9a2

103. The length of the transversal common tangent to the circle

 and  is , then t=

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 1 (x − t)2 + y2 = 1 √21

±2

±5

±3

https://dl.doubtnut.com/l/_Bqbeep1vRSXM
https://dl.doubtnut.com/l/_xVlFo5w0hec9


104. Let the line segment joining the centres of the circles

 and  intersect the circles

at P and Q respectively. Then the equation of the circle with PQ as its

diameter is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 2x + y2 = 0 x2 + y2 + 4x + 8y + 16 = 0

52 + 5y2 − 2x − 16y + 8 = 0

5x2 + 5y2 − 8x − 24y + 27 = 0

5x2 + 5y2 + 8x + 24y + 27 = 0

5x2 + 5y2 + 2x + 16y + 8 = 0

105. The number of common tangents to the circles

 and , isx2 + y2 − 4x − 6y − 12 = 0 x2 + y2 + 6x + 18y + 26 = 0

https://dl.doubtnut.com/l/_xVlFo5w0hec9
https://dl.doubtnut.com/l/_JsEmtrskZNJl
https://dl.doubtnut.com/l/_XLUh523K4416


A. 3

B. 4

C. 1

D. 2

Answer: A

Watch Video Solution

106. Let C be the circle with centre at  and radius . If T is the

circle centred at , passing through origin and touching the circle C

externally, then the radius of T is equal to

A. 

B. 

C. 

D. 

(1, 1) = 1

(0, y)

1

2

1

4

√
3

2

√3

2

https://dl.doubtnut.com/l/_XLUh523K4416
https://dl.doubtnut.com/l/_2cTpWDsrpfrx


Answer: B

Watch Video Solution

107. Two circles with radii 
touch each other externally such that 

is the angle between the direct common tangents, 
 . Then

prove that 
.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

a and b θ

(a > b ≥ 2)

θ = 2 sin− 1( )
a − b

a + b

θ = sin− 1( )
r1 + r2

r1 − r2

θ = 2 sin− 1( )
r1 − r2

r1 + r2

θ = sin− 1( )
r1 − r2

r1 + r2

https://dl.doubtnut.com/l/_2cTpWDsrpfrx
https://dl.doubtnut.com/l/_E4n9O56l6fuA


108. A circle touches the x-axis and also touches the circle with center

(0,3) and radius 2 externally. The locus of the center of the circle is

A. parabola

B. a hyperbola

C. a circle

D. an ellipse

Answer: A

Watch Video Solution

109. For the given circles  and 

, which of the following is true?

A. One circle lies inside the other

B. One circle lies completely outside the other

C. Two circles intersection in two points

x2 + y2 − 6x − 2y + 1 = 0

x2 + y2 + 2x − 8y + 13 = 0

https://dl.doubtnut.com/l/_sLa0ekzbQYGx
https://dl.doubtnut.com/l/_BvzAPYYxQJMQ


D. They touch each other externally

Answer: D

Watch Video Solution

110. How many common tangents can be drawn to the following circles

 and ?

A. 4

B. 3

C. 2

D. 1

Answer: A

Watch Video Solution

x2 + y2 = 6x x2 + y2 + 6x + 2y + 1 = 0

https://dl.doubtnut.com/l/_BvzAPYYxQJMQ
https://dl.doubtnut.com/l/_4JkhCNIyvsWk


111. There are two circles  and  touching each other and the

coordinate axes, if  is smaller than  and its radius is 2 units, then

radius of , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

C1 C2

C1 C2

C2

6 + 4√2

2 + 2√2

3 + 2√2

112. For the two circles , there is/are

A. one pair of common tangents

B. two pairs of common tangents

C. three common tangents

x2 + y2 = 16 and x2 + y2 − 2y = 0

https://dl.doubtnut.com/l/_HCwzNxMizBEL
https://dl.doubtnut.com/l/_oXm1UlkQR2sm


D. no common tangents

Answer: D

Watch Video Solution

113. Show that the common tangents to the circles

 form an equilateral triangle.

A. equilateral

B. isosceles

C. right angled

D. none of these

Answer: B

Watch Video Solution

x2 + y2 − 6x = 0 and x2 + y2 + 2x = 0

https://dl.doubtnut.com/l/_oXm1UlkQR2sm
https://dl.doubtnut.com/l/_KXutp79NPuqb


114. If two circles  and 

 intersect in two distinct points, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x − 1)2 + (y − 3)2 = r2

x2 + y2 − 8x + 2y + 8 = 0 :

2 < r < 8

r < 2

r = 2

r > 2

115. The two circles  and  touch each

other , if

A. c=|a|

B. 2a=|c|

C. 2c=a

x2 + y2 = ax x2 + y2 = c2(c > 0)

https://dl.doubtnut.com/l/_tDw4QqxhBd3x
https://dl.doubtnut.com/l/_vxwbz2SYmJ5f


D. none of these

Answer: A

Watch Video Solution

116. Statement 1  The number of common tangents to the circles 

 and  is 3. 


Statement 2  If two circles touch each other externally thenit has two

direct common tangents and one indirect common tangent.

A. 0

B. 1

C. 3

D. 4

Answer: B

Watch Video Solution

:

x2 + y2 = 4 x2 + y2 − 6x − 6y = 24

:

https://dl.doubtnut.com/l/_vxwbz2SYmJ5f
https://dl.doubtnut.com/l/_MMwdgq4FVufa


117. The number of common tangents to the circles one of which passes

through the origin and cuts off intercepts 2 from each of the axes and

the other circle has the segment joining the origin and the point (1, 1) as

a diameter, is

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

118. The length of the common chord of two circles of radii 15 and 20,

whose centres are 25 units apart, is

A. 24

https://dl.doubtnut.com/l/_ivyJTHDlQJui
https://dl.doubtnut.com/l/_I7uKM3tHpocB


B. 25

C. 15

D. 20

Answer: A

Watch Video Solution

119. The length of the common chord of the circle

 and 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + t2 + 2x + 3y + 1 = 0 x2 + y2 + 4x + 3y + 2 = 0

9

2

2√2

3√2

3

2

https://dl.doubtnut.com/l/_I7uKM3tHpocB
https://dl.doubtnut.com/l/_PvUScc56GHas


120. Prove that the length of the common chord of the two circles : 

Find also the condition when the given circles touch.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − a)2 + (y − b)2 = c2 and (x − b)2 + (y − a)2 = c2  is √4c2 − 2(a −

2√c2 − (a − b)2

√4c2 − 2(a − b)2

√2c2 − (a − b)2

√4c2 + 2(a − b)2

121. If the circle  bisects the circumference of

the circle  , then

A. 21

x2 + y2 + 6x − 2y + k = 0

x2 + y2 + 2x − 6y − 15 = 0

https://dl.doubtnut.com/l/_PvUScc56GHas
https://dl.doubtnut.com/l/_etwOjzutYYQX
https://dl.doubtnut.com/l/_bbwJhu9ylNQ2


B. -21

C. 23

D. -23

Answer: D

Watch Video Solution

122. If the circles  bisects 

 then the length of the common chord

of these two circles is -

A. 

B. 

C. 

D. 

Answer: B

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2g' x + 2f' y + c' = 0

2√g2 + f 2 − c

2√g'
2 + g'

2 − c'

2√g2 + f 2 + c

2√g'
2 + f'

2 + c'

https://dl.doubtnut.com/l/_bbwJhu9ylNQ2
https://dl.doubtnut.com/l/_6dLaMczmoGKM


Watch Video Solution

123. If the circle  bisects the circumference

of the circle  then c+d is equal to

A. 60

B. 50

C. 40

D. 56

Answer: B

Watch Video Solution

x2 + y2 + 4x + 22y + c = 0

x2 + y2 − 2x + 8y − d = 0

124. Find the angle of intersection of the circles

A. 

x2 + y2 − 6x + 4y + 11 = 0 and x2 + y2 − 4x + 6y + 9 = 0

30∘

https://dl.doubtnut.com/l/_6dLaMczmoGKM
https://dl.doubtnut.com/l/_6Hiq0Z1c9Qnr
https://dl.doubtnut.com/l/_U9DOjX2F3rWN


B. 

C. 

D. 

Answer: B

Watch Video Solution

45∘

60∘

90∘

125. The value of k so that  and 

 cut orthogonally, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + kx + 4y + 2 = 0

2(x2 + y2) − 4x − 3y + k = 0

10

3

−8

3

−10

3

8

3

https://dl.doubtnut.com/l/_U9DOjX2F3rWN
https://dl.doubtnut.com/l/_r9GNLvPAerGx


126. If the circles 
 and 


 intersect othrogonally, then prove
 that 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 + 2a ′x + 2b ′y + c ′ = 0

2x2 + 2y2 + 2ax + 2by + c = 0

aa ′ + ^ (' ) = c + c 2.
′
□

aa' + ′ = c + c'

aa' + ′ = c +
c'

2

aa' + ′ = + c'
c

2

127. about to only mathematics

A. 

B. 

2 or −
3

2

−2 or −
3

2

https://dl.doubtnut.com/l/_r9GNLvPAerGx
https://dl.doubtnut.com/l/_8iKW6jTX6YbH
https://dl.doubtnut.com/l/_kiEOcorsSeMg


C. 

D. 

Answer: A

Watch Video Solution

2 or
3

2

−2 or
3

2

128. If a circle Passes through a point (1,2) and cut the circle 

orthogonally,Then the locus of its centre is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 4

x2 + y2 − 3x − 8y + 1 = 0

x2 + y2 − 2x − 6y − 7 = 0

2x + 4y − 9 = 0

2x + 4y − 1 = 0

https://dl.doubtnut.com/l/_kiEOcorsSeMg
https://dl.doubtnut.com/l/_IhoGKABo4kS3
https://dl.doubtnut.com/l/_NtmfWPD2WOtn


129. The locus of the centres of circles passing through the origin and

intersecting the fixed circle  orthogonally is

A. a straight line of slope 3/5

B. a circle

C. a pair of straight lines

D. none of these

Answer: D

Watch Video Solution

x2 + y2 − 5x + 3y − 1 = 0

130. A circle S passes through the point  and is orthogonal to the

circles  and . Then

A. radius of S is 8

B. radius of S is 7

C. centre of S is (-7, 1)

90, 1)

(x − 1)2 + y2 = 16 x2 + y2 = 1

https://dl.doubtnut.com/l/_NtmfWPD2WOtn
https://dl.doubtnut.com/l/_tRtkTV5Xn7At


D. centre of S is (-8, 1)

Answer: B::C

Watch Video Solution

131. The point from which the tangents to the circles

and 

 are equal in length, is

A. (8, 15/2)

B. (-8, 15/2)

C. (8, -15/2)

D. none of these

Answer: C

Watch Video Solution

x2 + y2 − 8x + 40 = 0, 5x2 + 5y2 − 25x + 80 = 0,

x2 + y2 − 8x + 16y + 160 = 0

https://dl.doubtnut.com/l/_tRtkTV5Xn7At
https://dl.doubtnut.com/l/_sTb1nJHupVKF
https://dl.doubtnut.com/l/_SdkXQ2uO9RWc


132. The radical axis of two circles having centres at  and  and radii 

 and  is neither intersecting nor touching any of the circles, if

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C1 C2

r1 r2

C1C2 = 0

0 < C1C2 < |r1 − r2|

C1C2 = |r1 − r2|

|r1 − r2| < C1C2 < r1 + r2

133. If the radical axis of the circles 
 and 


 touches the circle 


, show that either 
or 

A.  and f=2

B.  and 

x2 + y2 + 2gx + 2fy + c = 0

2x2 + 2y2 + 3x + 8y + 2c = 0

x2 + y2 + 2x − 2y + 1 = 0 g =
3

4
f = 2

g =
4
3

g =
4
3

f =
1

2

https://dl.doubtnut.com/l/_SdkXQ2uO9RWc
https://dl.doubtnut.com/l/_srnthLTYhnLn


C.  and 

D.  and 

Answer: B

Watch Video Solution

g = −
3

4
f = 2

g =
3

4
f =

1

2

134. Let there be 
 circles in a plane. The value of 
 for which the

number of radical centers is equal to the
 number of radical axes is

(assume that all radical axes and radical centers
exist and are different).
a.


b. 
c. 
d. none of these

A. 3

B. 4

C. 5

D. 8

Answer: C

W t h Vid S l ti

n ≥ 3 n

7 6 5

https://dl.doubtnut.com/l/_srnthLTYhnLn
https://dl.doubtnut.com/l/_d1UXT9VzUV6y


Watch Video Solution

135. Two equal circles with their centres as x and y axis will possess the

radical axis in the following form

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax − by − = 0
a2 + b2

4

2gx − 2fy + g2 − f 2 = 0

g2x + f 2y − g4 − f 4 = 0

2g2x + 2f 2y − g4 − f 4 = 0

136. The equation of the circle on the common chord of the circles

 and  as diameter, is

A. 

(x − a)2 + y2 = a2 x2 + (y − b)2 = b2

x2 + y2 = 2ab(bx + ay)

https://dl.doubtnut.com/l/_d1UXT9VzUV6y
https://dl.doubtnut.com/l/_LwlHC2ZP5woA
https://dl.doubtnut.com/l/_GP3oxxH8L5Wz


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = bx + ay)

(a2 + b2)(x2 + y2) = 2ab(bx − ay)

(a2 + b2)(x2 + y2) = 2(bx + ay)

137. The equation of the cicle and its chord are respectively 

and  .The equation of the circle of which this chord

is a diameter is 

A. 

B. 

C. 

D. none of these

Answer: A

x2 + y2 = a2

x cosα + y sinα = P

:

x2 + y2 − 2px cosα − 2py sinα + 2p2 − a2 = 0

x2 + y2 − 2px cosα − 2py sinα + p2 − a2 = 0

x2 + y2 + 2px cosα + 2py sinα + 2p2 − a2 = 0

https://dl.doubtnut.com/l/_GP3oxxH8L5Wz
https://dl.doubtnut.com/l/_E6zgYDPyp4DQ


Watch Video Solution

138. The circle passing through the point  and touching the y-

axis at (0,2) also passes through the point.

A. (-3/2, 0)

B. (-5/2, 2)

C. (-3/2, 5/2)

D. (-4, 0)

Answer: D

Watch Video Solution

( − 1, 0)

139. The circle passing through ( 1, -2) and touching the axis of x at ( 3,0)

also passes through the point 

A. (-5, 2)

:

https://dl.doubtnut.com/l/_E6zgYDPyp4DQ
https://dl.doubtnut.com/l/_qILBIDLvKzFN
https://dl.doubtnut.com/l/_ZjUavh048Hjk


B. (2, -5)

C. (5, -2)

D. (-2, 5)

Answer: A

Watch Video Solution

140. The equation of circle passing through  and the points

common to the two circt

 is

A. 

B. 

C. 

D. none of these

Answer: B

(1, − 3)

x2 + y2 − 6x + 8y − 16 = 0, x2 + y2 + 4x − 2y − 8 = 0

x2 + y2 − 4x + 6y + 24 = 0

2x2 + 2y2 + 3x + y − 20 = 0

3x2 + 3y2 − 5x + 7y − 19 = 0

https://dl.doubtnut.com/l/_ZjUavh048Hjk
https://dl.doubtnut.com/l/_QbSNpHSNcfMX


Watch Video Solution

141. The equation of the circle whose diameter is the common chord of

the
circles; 
 and 

is:










None of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 + 3x + 2y + 1 = 0 x2 + y2 + 3x + 4y + 2 = 0

x2 + y2 + 8x + 10y + 2 = 0

x2 + y2 − 5x + 4y + 7 = 0

2x2 + 2y2 + 6x + 2y + 1 = 0

x2 + y2 + 8x + 10y + 2 = 0

x2 + y2 − 5x + 4y + 7 = 0

2x2 + 2y2 + 6x + 2y + 1 = 0

https://dl.doubtnut.com/l/_QbSNpHSNcfMX
https://dl.doubtnut.com/l/_67kt6QtcndeQ


142. A variable chord is drawn through the origin to the circle


 . Find the locus of the center of the circle drawn on

this chord as
diameter.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2ax = 0

x2 + y2 + ax = 0

x2 + y2 − ax = 0

x2 + y2 + ay = 0

x2 + y2 − ay = 0

143. Find the equation of the circle whose radius is 3 and which touches

internally the circle 
 at the point 

A. 

x2 + y2 − 4x − 6y = − 12 = 0

( − 1, − 1).

5x2 + 5y2 + 8x − 14y − 16 = 0

https://dl.doubtnut.com/l/_67kt6QtcndeQ
https://dl.doubtnut.com/l/_jmgGrGYX4rz2
https://dl.doubtnut.com/l/_XPsmwwdb9qTO


B. 

C. 

D. 

Answer: B

Watch Video Solution

5x2 + 5y2 − 8x − 14y − 32 = 0

5x2 + 5y2 − 8x + 14y − 4 = 0

5x2 + 5y6(2) + 8x + 14y + 12 = 0

144. From the origin O tangents OP and OQ are drawn to the circle

. Then the circumcentre of the triangle

OPQ lies at

A. 

B. 

C. 

D. 

Answer: B

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2gx + 2fy = 0

x2 + y2 + gx + fy = 0

x2 + y2 − gx − fy = 0

x2 + y2 − 2gx − 2fy = 0

https://dl.doubtnut.com/l/_XPsmwwdb9qTO
https://dl.doubtnut.com/l/_6aVE6wN858Z4


Watch Video Solution

145. The equation of the circle which passes through the points of

intersection of the circles  and  and

has its centre at (3/2, 3/2), is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 6x = 0 x2 + y2 − 6y = 0

x2 + y2 + 3x + 3y + 9 = 0

x2 + y2 + 3x + 3y = 0

x2 + y2 − 3x − 3y = 0

x2 + y2 − 3x − 3y + 9 = 0

146. The limiting points of the system of circles represented by the

equation  are2(x2 + y2) + λx + = 0
9

2

https://dl.doubtnut.com/l/_6aVE6wN858Z4
https://dl.doubtnut.com/l/_O9wai67xbxVs
https://dl.doubtnut.com/l/_QAl0pEYS91Lo


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ± , 0)
3

2

(0, 0), ( , 0)
9

2

( ± , 0)
9

2

( ± 3, 0)

147. The radical axis of the circles, belonging to the coaxal system of

circles whose limiting points are (1, 3) and (2, 6), is

A. 

B. 

C. 

D. 

Answer: B

x − 3y − 15 = 0

x + 3y − 15 = 0

x − 3y + 15 = 0

2x + 3y − 15 = 0

https://dl.doubtnut.com/l/_QAl0pEYS91Lo
https://dl.doubtnut.com/l/_LOeXL1K3dyzX


Watch Video Solution

148. If (1,2) is limiting point of the co-axial system of circles containing the

circle , then the equation of the reaical axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + x − 5y + 9 = 0

x + 2y + 9 = 0

3x − y + 4 = 0

x + 9y − 4 = 0

3x − y − 1 = 0

149. The limiting points of the coaxial system containing the two circles

 and  are

A. (1, -1), (-5, -40)

x2 + y2 + 2x − 2y + 2 = 0 25(x2 + y2) − 10x − 80y + 65 = 0

https://dl.doubtnut.com/l/_LOeXL1K3dyzX
https://dl.doubtnut.com/l/_FiTUr027R6LQ
https://dl.doubtnut.com/l/_YoDIpOIoW2TI


Section I - Solved Mcqs

B. (1, -1), (-1/5, -8/5)

C. (-1, 1) , (1/5, 8/5)

D. (-1, 1), (-1/5, -8/5)

Answer: C

Watch Video Solution

1. The equation  represents

A. a point (3, -4)

B. a pair of straight lines x=3, y=-4

C. a circle of non-zero radius

D. none of these

Answer: A

x2 + y2 − 6x + 8y + 25 = 0

https://dl.doubtnut.com/l/_YoDIpOIoW2TI
https://dl.doubtnut.com/l/_QIFNSu96ZlRo


Watch Video Solution

2. The number of integral values of  for which the equation

 represents a circle whose radius cannot

exceed 6, is

A. 10

B. 11

C. 12

D. 9

Answer: B

Watch Video Solution

λ

x2 + y2 − 2λx + 2λy + 14 = 0

3. If the equation  represent a

circle. Then

x2 + y2 + 6x − 2y + (λ2 + 3λ + 12) = 0

https://dl.doubtnut.com/l/_QIFNSu96ZlRo
https://dl.doubtnut.com/l/_uDMRa32k0i2Z
https://dl.doubtnut.com/l/_vN1HrpQL5Hle


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

λ ∈ R

λ ∈ [1, 2]

[ − 2, − 1]

4. If  represents a circle of meaningful

radius, then the range of real values of , is

A. R

B. 

C. 

D. none of these

Answer: A

2(x2 + y2) + 4λx + λ2 = 0

λ

(0, ∞)

( − ∞, 0)

https://dl.doubtnut.com/l/_vN1HrpQL5Hle
https://dl.doubtnut.com/l/_YrExFREWtPqX


Watch Video Solution

5. The locus of a point which moves such that the sum of the square of its

distance from three vertices of a triangle is constant is a/an
 circle (b)

straight line (c) ellipse (d)
none of these

A. circle

B. straight line

C. ellipse

D. none of these

Answer: A

Watch Video Solution

6. Prove that the locus of a point which moves such
that the sum of the

square of its distances from the vertices of a triangle
 is constant is a

circle having centre at the centroid of the triangle.

https://dl.doubtnut.com/l/_YrExFREWtPqX
https://dl.doubtnut.com/l/_oFNN9TIxbODi
https://dl.doubtnut.com/l/_eqMhfjfm6mUY


A. centroid of triangle ABC

B. circumcentre of 

C. orthocentre of 

D. none of these

Answer: A

Watch Video Solution

ΔABC

ΔABC

7. The equation of the circle passing through the point (-1, 2) and having

two diameters along the pair of lines , is

A. 

B. 

C. 

D. none of these

Answer: C

x2 − y2 − 4x + 2y + 3 = 0

x2 + y2 − 4x − 2y + 5 = 0

x2 + y2 + 4x + 2y − 5 = 0

x2 + y2 − 4x − 2y − 5 = 0

https://dl.doubtnut.com/l/_eqMhfjfm6mUY
https://dl.doubtnut.com/l/_xxPXQPnnBrwy


Watch Video Solution

8. If a circle of radius R passes through the origin O and intersects the

coordinate axes at A and B, then the locus of the foot of perpendicular

from O on AB is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + y2 = k2

x2 + y2 = 2k2

x2 + y2 = 3k2

9. The equation  represents points

A. which are collinear

(x2 − a2)
2

+ (y2 − b2)
2

= 0

https://dl.doubtnut.com/l/_xxPXQPnnBrwy
https://dl.doubtnut.com/l/_OPssU6sTp8e5
https://dl.doubtnut.com/l/_iYnSSCYAeH54


B. which lie on a circle with centre at (0, 0)

C. which lie on a circle with centre at (a, b)

D. none of these

Answer: B

Watch Video Solution

10. Find the greatest distance of the point 
 from the circle 

A. 10

B. 15

C. 5

D. none of these

Answer: B

Watch Video Solution

P (10, 7)

x2 + y2 − 4x − 2y − 20 = 0

https://dl.doubtnut.com/l/_iYnSSCYAeH54
https://dl.doubtnut.com/l/_p0HwFGFhwPxY


11. If the base of a triangle and the ratio of the lengths of the other two

unequal sides are given, then the vertex lies on

A. straight line

B. circle

C. ellipse

D. parabola

Answer: B

Watch Video Solution

12. Two conics 

intersect in 4 concyclic points. Then

A. 

B. 

a1x
2 + 2h1xy + b1y

2 = c1, a2x
2 + 2h2xy + b2y

2 = c2

(a1 − b1h2 = (a2 − b2)h1

(A1 − b1)h1 = (a2 − b2)h2

https://dl.doubtnut.com/l/_p0HwFGFhwPxY
https://dl.doubtnut.com/l/_clPpeqyi5rHf
https://dl.doubtnut.com/l/_LE5uugvTfo3H


C. 

D. 

Answer: A

Watch Video Solution

(a1 + b1)h2 = (a2 + b2)h1

(a1 + b1)h1 = (a2 + b2)h2

13. The number of points with integral coordinates that are interior to

the circle , is

A. 43

B. 49

C. 45

D. 51

Answer: C

Watch Video Solution

x2 + y2 = 16

https://dl.doubtnut.com/l/_LE5uugvTfo3H
https://dl.doubtnut.com/l/_BfJz2r4GppJZ
https://dl.doubtnut.com/l/_YvIELPRgfahG


14. Find the equation of the circle which is touched by 
 , has its

center on the positive direction of the x=axis and cuts off a
 chord of

length 2 units along the line 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = x

√3y − x = 0

x2 + y2 − 4x + 2 = 0

x2 + y2 − 4x + 1 = 0

x2 + y2 − 8x + 8 = 0

x2 + y2 − 4y + 2 = 0

15. The loucs of the centre of the circle which cuts orthogonally the circle

 and which touches x=2 is

A. 

B. 

x2 + y2 − 20x + 4 = 0

y2 = 16x + 4

x2 = 16y

https://dl.doubtnut.com/l/_YvIELPRgfahG
https://dl.doubtnut.com/l/_LKnrKp4GRFgO


C. 

D. 

Answer: D

Watch Video Solution

x2 = 16y + 4

y2 = 16x

16. about to only mathematics

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + (y − 3)2 = 0

x2 + 4x + (y + 3)2 = 0

x2 + 8x + (y − 3)2 = 16

(x + 4)2 + (y − 3)2 = 16

https://dl.doubtnut.com/l/_LKnrKp4GRFgO
https://dl.doubtnut.com/l/_sJbinjbGdnuh


17. Two vertices of an equilateral triangle are 
 and (1, 0), and its

third vertex lies above the x-axis. The equation of
 its circumcircel is

____________

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

( − 1, 0)

x2 + y2 = 1

√3(x2 + y2) + 2y − √3 = 0

√3(x2 + y2) − 2y − √3 = 0

18. The geometric mean of the minimum and maximum values of the

distance of point (-7, 2) from the points on the circle

 is equal to

A. 

x2 + y2 − 10x − 14y − 51 = 0

2√11

https://dl.doubtnut.com/l/_vt1nqbfkvWvQ
https://dl.doubtnut.com/l/_WfEoVrAD0D7M


B. 13

C. 

D. 12

Answer: A

Watch Video Solution

5√5

19. A circle passes through a fixed point A and cuts two perpendicular

straight lines through A in B and C. If the straight line BC passes through

a fixed-point , the locus of the centre of the circle, is

A. 

B. 

C. 

D. 

Answer: D

(x1, y1)

+ = 1
x1

x

y1

y

x1y = x1y1

xy1 + yx1 = 2

+ = 2
x1

x

y1

y

https://dl.doubtnut.com/l/_WfEoVrAD0D7M
https://dl.doubtnut.com/l/_hBBJdYJhDaS5


Watch Video Solution

20. The equation of the circumcircle of the triangle formed by the lines

whose combined equation is given by (x+y-4) (xy-2x-y+2)=0, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 − 5x − 3y + 8 = 0

x2 + y2 − 3x − 5y + 8 = 0

x2 + y2 − 3x − 5y − 8 = 0

21. The equation of the circumcircle of an equilateral triangle is


and one vertex of the triangle in (1, 1). The

equation of the incircle
 of the triangle is


x2 + y2 + 2gx + 2fy + c = 0

a. 4(x2 + y2) = g2 + f 2

https://dl.doubtnut.com/l/_hBBJdYJhDaS5
https://dl.doubtnut.com/l/_GoXfiCZ1iSbX
https://dl.doubtnut.com/l/_RrtoHmTPRT31



d. None of These

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

b. 4(x2 + y2) + 8gx + 8fy = (1 − g)(1 + 3g) + (1 − f)(1 + 3f)

c. 4(x2 + y2) + 8gx + 8fy = g2 + f 2

4(x2 + y2) = g2 + f 2

4(x2 + y2) + 8gx + 8fy = g2 + f 2

4(x2 + y2) + 8gx + 8fy = (1 − g)(1 + 3g) + (1 − f)(1 + 3f)

22. Circles are drawn through the point (3,0) to cut an intercept of length

6 units on the negative direction of the x-axis. The equation of the locus

of their centres is

A. y=0

B. y=x

C. x=0

https://dl.doubtnut.com/l/_RrtoHmTPRT31
https://dl.doubtnut.com/l/_ksO4Yg9WTv4c


D. y=-x

Answer: C

Watch Video Solution

23. Find the locus of the centre of the circle
 touching the line

A. xy=0

B. x=0

C. y=0

D. none of these

Answer: A

Watch Video Solution

x + 2y = 0andx = 2y = 0.

https://dl.doubtnut.com/l/_ksO4Yg9WTv4c
https://dl.doubtnut.com/l/_MdkLnPP3psh9


24. The angle between  and line 

, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 2x − 2y + 1 = 0

y = λx + 1 − λ

0∘

45∘

30∘

90∘

25. The equation of the smallest circle passing from points (1, 1) and (2, 2)

and always in the first quadrant is

A. 

B. 

C. 

x2 + y2 − 4x − 2y + 4 = 0

x2 + y2 + 2x + 4y + 4 = 0

x2 + y2 − 3x − 3y + 4 = 0

https://dl.doubtnut.com/l/_HrFgkHV9iyhh
https://dl.doubtnut.com/l/_6COxaOnGwCwa


D. 

Answer: C

Watch Video Solution

x2 + y2 − 5x − y + 4 = 0

26. There are two circles whose equation are 
 and 


 If the two circles have exactly two

common tangents, then the number of
 possible values of 
 is
 (a)2 (b) 8

(c) 9 (d)
none of these

A. 2

B. 8

C. 9

D. none of these

Answer: C

Watch Video Solution

x2 + y2 = 9

x2 + y2 − 8x − 6y + n2 = 0, n ∈ Z.

n

https://dl.doubtnut.com/l/_6COxaOnGwCwa
https://dl.doubtnut.com/l/_H6k9z4rHtnWt


27. The range of values of  for which the circles  and 

 have two common tangents,is 

A. [-13/8, 13/8]

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

λ x2 + y2 = 4

x2 + y2 − 4λx + 9 = 0 :

( − ∞, − 13/8) ∪ (13/8, ∞)

(1, 13/8)

28. The circle which can be drawn to pass through (1, 0) and (3, 0) and to

touch the y-axis intersect at angle 
Then 
is equal to
 
(b) 
 (c) 


(d) 

A. 

B. 

θ. cos θ
1

2
−

1

2
1

4
−

1

4

1/2

−1/2

https://dl.doubtnut.com/l/_zEylc9AEV13L
https://dl.doubtnut.com/l/_MAkrgctaYrmp


C. 

D. 

Answer: B

Watch Video Solution

1/4

−1/4

29. A chord of the circle  cuts it at two points A and B such

that , where O is the centre of the circle. If there is a

moving point P on this circle, then the locus of the orthocentre of

 will be a

A. parabola

B. circle

C. straight line

D. none of these

Answer: B

W t h Vid S l ti

x2 + y2 = a2

∠AOB = π/2

ΔPAB

https://dl.doubtnut.com/l/_MAkrgctaYrmp
https://dl.doubtnut.com/l/_DhWgmsC3cqvR


Watch Video Solution

30. The lengths of the tangents from the points A and B to a circle are 

and  respectively. If points are conjugate with respect to the circle, then 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

l1

l2

AB2 =

l1 + l2

l21 + l22

∣∣l21 − l22∣∣

31. The locus of the centre of the circle passing through the origin O and

the points of intersection A and B of any line through (a, b) and the

coordinate axes is

https://dl.doubtnut.com/l/_DhWgmsC3cqvR
https://dl.doubtnut.com/l/_IhFED21Uee4S
https://dl.doubtnut.com/l/_olPmLbhtMFHi


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = 1
x

a

y

b

+ = 1
a

x

b

y

+ = 2
x

a

y

b

+ = 2
a

x

b

y

32. about to only mathematics

A. be concyclic

B. be collinear

C. form the vertices of a triangle

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_olPmLbhtMFHi
https://dl.doubtnut.com/l/_NMb4xECkPpEw


33. If the chord of contact of tangents drawn from a point  to the

circle  subtends a right angle at the centre of the circle,

then

A. 2a

B. a/2

C. 

D. 

Answer: C

Watch Video Solution

(α, β)

x2 + y2 = a2

√2a

a2

34. Consider a family of circles which are passing through the point


 and are tangent to the x-axis. If 
 are the coordinates of

the center of the circles, then the set of
 values of 
 is given by the

( − 1, 1) (h, k)

k

https://dl.doubtnut.com/l/_NMb4xECkPpEw
https://dl.doubtnut.com/l/_JNgAbSAS16x2
https://dl.doubtnut.com/l/_T8Q9sPWSrXdW


interval.


(a) 
(b) 
 
(d) < <

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

k ≥
1

2
− ≤ k ≤

1

2

1

2
k ≤

1

2
0 k

1

2

≤ k ≤
1

2

1

2

k ≤
1

2

0 < k <
1

2

k ≥
1

2

35. A foot of the normal from the point (4, 3) to a circle is (2, 1) and a

diameter of the circle has the equation . Then the

equation of the circle is :

A. 

B. 

C. 

2x − y − 2 = 0

x2 + y2 + 2x − 1 = 0

x2 + y2 − 2x − 1 = 0

x2 + y2 − 2y − 1 = 0

https://dl.doubtnut.com/l/_T8Q9sPWSrXdW
https://dl.doubtnut.com/l/_8KGp6DSFDIxZ


D. none of these

Answer: B

Watch Video Solution

36. A circle touches both the coordinate axes and the line

, the coordinates of the centre of the circle cannot

be

A. (a, a)

B. (a, -a)

C. (-a, a)

D. (-a, -a)

Answer: B

Watch Video Solution

x − y = √2a, a > 0

https://dl.doubtnut.com/l/_8KGp6DSFDIxZ
https://dl.doubtnut.com/l/_lMveBlk3ffXW
https://dl.doubtnut.com/l/_03SRobwPZcJ8


37. about to only mathematics

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π/2

π/3

π/4

π/6

38. If  is the intercept of the tangent to the circle 

between the coordinate axes, the locus of the vertex  of the rectangle 

 is

A. 

B. 

C. 

AB x2 + y2 = r2

P

OAPB

x2 + y2 = r2

+ =
1

x2

1

y2

1

r2

+ = r21

x2

1

y2

https://dl.doubtnut.com/l/_03SRobwPZcJ8
https://dl.doubtnut.com/l/_3Eu5B1OT71eE


D. none of these

Answer: B

Watch Video Solution

39. The locus of the foot of the normal drawn from any point  to

the family of circles , where g is a parameter, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

P (α, β)

x2 + y2 − 2gx + c = 0

(x2 + y2 + c)(y − β) = 2(ya − xβ)x

(x2 + y2 + c)(x − β) = 2(yα − xβ)x

(x2 + y2 + c)(x − β) = 2(xα − yβ)x

https://dl.doubtnut.com/l/_3Eu5B1OT71eE
https://dl.doubtnut.com/l/_D3bi77369D0W


40. The chords of contact of the pair of tangents drawn from each point

on the line  to the circle  pass through the point

(h,k) then 4(h+k) is

A. (1/2, 1/4)

B. (1/4, 1/2)

C. (1, 1/2)

D. (1/2, 1)

Answer: A

Watch Video Solution

2x + y = 4 x2 + y2 = 1

41. The equation of a circle  is  A circle

of radius  rolls on the outside of the circle  The locus of the centre 

has the equation

A. 

C1 x2 + y2 − 4x − 2y − 11 = 0 C2

1 C1 C2

x2 + y2 − 4x − 2y − 20 = 0

https://dl.doubtnut.com/l/_2SwZIamoIo6F
https://dl.doubtnut.com/l/_sheRdcnLh8jn


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 + 4x + 2y − 20 = 0

x2 + y2 − 3x − y − 11 = 0

42. If a chord of contact of tangents drawn from a point P with respect to

the circle  is x=2, then area, in square units, of triangle

formed by tangents drawn from P to the circle and their chord of contact

is equal to

A. 

B. 

C. 

D. none of these

x2 + y2 = 9

4√5

2

9√3

2

5√5
)

2

https://dl.doubtnut.com/l/_sheRdcnLh8jn
https://dl.doubtnut.com/l/_sik6DfCQSmBJ


Answer: C

Watch Video Solution

43. If (a, 0) is a point on a diameter of the circle , then the

equation  has

A. exactly one root in [-1, 0]

B. exactly one root in [2, 5]

C. distinct roots greater than -1 and less than 5

D. all of these

Answer: D

Watch Video Solution

x2 + y2 = 4

x2 − 4x − a2 = 0

44. If the polar of a point ( p,q) with respect to the circle 

touches the circle ,then 

x2 + y2 = a2

(x − c)2 + (y − d)2 + b2 :

https://dl.doubtnut.com/l/_sik6DfCQSmBJ
https://dl.doubtnut.com/l/_0r4qUKQs7vuZ
https://dl.doubtnut.com/l/_E6zIRNfso3Zz


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

b2(p2 + q2) = (a2 − cp − dq)
2

b2(p2 + q2) = (a2 − cq − dp)
2

a2(p2 + q2) = (b2 − cp − dq)
2

45. The locus of the mid-points of the chords of the circle of lines radiÃ¹s r

which subtend an angle  at any point on the circumference of the circle

is a concentric circle with radius equal to (a)  (b)  (c)  (d) 

A. 

B. 

C. 

D. 

π

4
r

2

2r

3
r

√2

r

√3

x2 + y2 = 1

x2 + y2 =
27

4

x2 + y6(2) =
9

4

x2 + y2 =
3
2

https://dl.doubtnut.com/l/_E6zIRNfso3Zz
https://dl.doubtnut.com/l/_1JwOcaTQBdpR


Answer: C

Watch Video Solution

46. If two circles and  and 

 touch each other, then

A. aC=cA

B. bC=cB

C. aB=bA

D. a A=bB=cC

Answer: B

Watch Video Solution

a(x2 + y2) + bx + cy = 0

p(x2 + y2) + qx + ry = 0

47. The circles  and 

 touch each other

x2 + y2 + 2x − 2y + 1 = 0

x2 + y2 − 2x − 2y + 1 = 0

https://dl.doubtnut.com/l/_1JwOcaTQBdpR
https://dl.doubtnut.com/l/_jbh4lcu2sZ1q
https://dl.doubtnut.com/l/_DkO7NN26CtGU


A. externally at (0, 1)

B. internally at (0, 1)

C. externally at (1, 0)

D. internally at (1, 0)

Answer: A

Watch Video Solution

48. The point of intersection of the common chords of three circles

described on the three sides of a triangle as diameter is

A. centroid of the triangle

B. orthocentre of the triangle

C. circumcentre of the triangle

D. incentre of the triangle

Answer: B

https://dl.doubtnut.com/l/_DkO7NN26CtGU
https://dl.doubtnut.com/l/_NOi8XxsNpBNo


Watch Video Solution

49. If P and Q are the points of intersection of the circles

 and , then

there is a circle passing through P,Q, and (1,1) for

A. all values of p

B. all except one value of p

C. all except two values of p

D. exactly one value of p

Answer: A

Watch Video Solution

x2 + y2 + 3x + 7y + 2p − 5 = 0 x2 + y2 + 2x + 2y − p2 = 0

50. If the chord of contact of tangents from a point 
 to a given circle

passes through 
 then the circle on 
 as diameter.
 cuts the given

P

Q, PQ

https://dl.doubtnut.com/l/_NOi8XxsNpBNo
https://dl.doubtnut.com/l/_RHdN9zILF80i
https://dl.doubtnut.com/l/_lja18uVnoKq5


circle orthogonally
 touches the given circle externally
 touches the given

circle internally
none of these

A. cuts the given circle orthogonally

B. touches the given circle externally

C. touches the given circle internally

D. none of these

Answer: A

Watch Video Solution

51. If one of the circles  and 

 lies within the other, then

A. 

B. 

C. 

x2 + y2 + 2ax + c = 0

x2 + y2 + 2bx + c = 0

ab > 0, c > 0

ab > , 0, c < 0

ab < 0, c > 0

https://dl.doubtnut.com/l/_lja18uVnoKq5
https://dl.doubtnut.com/l/_adVfRsu24tMi


D. none of these

Answer: A

Watch Video Solution

52. The chord of contact of tangents from a point 
 to a circle passes

through 
If 
are the length of the tangents from 
to the

circle, then 
 is equal to 
 (b) 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P

Q. l1andl2 PandQ

PQ
l1 + l2

2
l1 − l2

2
√l12 + l22

2√l12 + l22

l1 + l2
2

l2 − l2
2

√l21 + l22

√l21l
2
2

https://dl.doubtnut.com/l/_adVfRsu24tMi
https://dl.doubtnut.com/l/_giYm2BGdCi3T


53. The locus of the centre of circle which cuts off an intercept of

constant length on the x-axis and which passes through a fixed point on

the y-axis, is

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

54. Let PQ and RS be tangents at the extremities of the diameter PR of a

circle of radius r. If PS and RQ intersect at apoint X on the circumference

of the circle, then 2r equals 

A. 

:

√PQ × RS

https://dl.doubtnut.com/l/_Mz5sVN4FRc2N
https://dl.doubtnut.com/l/_PGuQYm0bG9Wr


B. 

C. 

D. 

Answer: A

Watch Video Solution

√PQ × RS

2

2PQ × RS

2

√PQ2 × RS2

2

55. about to only mathematics

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

{(x, y) : x2 = 4y} ∪ {(0, y) : y < 0}

{(x, y) : y = x2} ∪ {0, y) : y ≤ 0}

{(x, y) : x2 + (y − 1)
2

= 4} ∪ {90, y) : y < 0}

{(x, y) : x2 + 4y = 0} ∪ {(0, y) : y < 0}

https://dl.doubtnut.com/l/_PGuQYm0bG9Wr
https://dl.doubtnut.com/l/_nqrwxiu4EKwK
https://dl.doubtnut.com/l/_quuDmzJjB61U


56. A tangent to the circle  through the point (0, 5) cuts the

circle  at P and Q. If the tangents to the circle  at

P and Q meet at R, then the coordinates of R are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 1

x2 + y2 = 4 x2 + y2 = 4

(8√6/5, 4/5)

(8√6/5), − 4/5)

( − 8√6/5), − 4/5)

57. If a line passes through the point P(1,-2) and cuts the circle

 at A and B, then the maximum value of 

is

A. 

x2 + y2 − x − y = 0 PA + PB

√a

https://dl.doubtnut.com/l/_quuDmzJjB61U
https://dl.doubtnut.com/l/_dI01R9OYSmRx


B. 8

C. 

D. 

Answer: A

Watch Video Solution

√8

2√8

58. The common chord of the circle 
 and a

circle passing through the origin and touching the line 
 always

passes through the point.
(a) 
(b) (1, 1)
 (c) 
 (d) none

of these

A. (-1/2, 1/2)

B. (1, 1)

C. (1/2, 1/2)

D. none of these

x2 + y2 + 6x + 8y − 7 = 0

y = x

( − , )
1

2

1

2
( , )

1

2

1

2

https://dl.doubtnut.com/l/_dI01R9OYSmRx
https://dl.doubtnut.com/l/_6cOhgoI8JF7E


Answer: C

Watch Video Solution

59. If the common chord of the circles  and 

 subtend a right angle at the origin then  is equal to 

A. 4

B. 

C. 

D. 8

Answer: C

Watch Video Solution

x2 + (y − λ)2 = 16

x2 + y2 = 16 ' λ' :

4√2

±4√2

60. Two circles are given such that they neither intersect nor touch. Then

identify the locus of the center of variable circle which touches both the

https://dl.doubtnut.com/l/_6cOhgoI8JF7E
https://dl.doubtnut.com/l/_zEHHHFxVGbnV
https://dl.doubtnut.com/l/_fcwWV5IAAmth


circles externally.

A. a circle

B. an ellipse

C. a hyperbola

D. none of these

Answer: C

Watch Video Solution

61. Let 
 be a quadrilateral with area 
 , side 
 parallel to the

side 
. Let 
be perpendicular to 
. If a

circle is drawn inside the quadrilateral 
 touching all the sides,

then its radius is
 
(b) 2
(c) 
(d) 1

A. 3

B. 2

C. 

ABCD 18 AB

CD, andAB = 2CD AD ABandCD

ABCD

a = 3
3

2

3/2

https://dl.doubtnut.com/l/_fcwWV5IAAmth
https://dl.doubtnut.com/l/_q8oxc9JwWxoU


D. 1

Answer: B

Watch Video Solution

62. The locus of the centre of a circle touching the circle

 internally and tangents on which from

(1,2) is making a  angle with each other is a circle. then integral part of

its radius is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + y2 − 4y − 2x = 2√3 − 1

60∘

(x − 1)2 + (y − 2)2 = 3

(x − 2)2 + (y − 1)2 = 1 + 2√3

x2 + y2 = 1

https://dl.doubtnut.com/l/_q8oxc9JwWxoU
https://dl.doubtnut.com/l/_4QsauBQ0jEKN


63. The equation of the locus of the middle point of a chord of the circle


 such that the pair of lines joining the origin to the

point of
 intersection of the chord and the circle are equally inclined to

the x-axis
is
 
(b) 
 
(d) none of these

A. x+y=2

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 2(x + y)

x + y = 2 x − y = 2 2x − y = 1

x − y = 2

2x − y = 1

64. The locus of the centre of the circle passing through the intersection

of the circles  and  is

A. 

x2 + y2 = 1 x2 + y2 − 2x + y = 0

x + 2y = 0

https://dl.doubtnut.com/l/_g68KN1BX7vos
https://dl.doubtnut.com/l/_bSH3BtNsnJ8L


B. 

C. a circle

D. a pair of lines

Answer: A

Watch Video Solution

2x − y = 1

65. Find the equation of the smallest circle passing through the point of

intersection of the line  and the circle .

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x + y = 1 x2 + y2 = 9

x2 + y2 + x + y − 8 = 0

x2 + y2 − x − y − 8 = 0

x2 + y2 − x + y − 8 = 0

https://dl.doubtnut.com/l/_bSH3BtNsnJ8L
https://dl.doubtnut.com/l/_jHqXcbzEPgr9


66. , are the two concentric circles withradii

. If the tangents drawnfrom any point of , to ,

meet again , at theends of its diameter, then

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

C1 and C2

r1 and r2, (r1 < r2) C2 C1

C2

r2 = 2r1

r2 = √2r1

r2
2 < 2r2

1

67. The equation of a circle is 
 Find the center of the

smallest circle touching the circle and the line


A. 

x2 + y2 = 4.

x + y = 5√2

( , )
7

2√2

7

2√2

https://dl.doubtnut.com/l/_jHqXcbzEPgr9
https://dl.doubtnut.com/l/_sVKhK8I21fGU
https://dl.doubtnut.com/l/_kdWl2OPKCegt


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

( , )
3

2

3

2

( − , − )
7

2√2

7

2√2

68. From a point A(1, 1) on the circle  two

equal chords AB and AC of length 2 units are drawn. The equation of

chord BC, is

A. 4x+3y-12=0

B. x+y=4

C. 3x+4y=4

D. x+y=6

Answer: B

x2 + y2 − 4x − 4y + 6 = 0

https://dl.doubtnut.com/l/_kdWl2OPKCegt
https://dl.doubtnut.com/l/_W8MoRk3SFWy8


Watch Video Solution

69. The number of circles belonging to the system of circles

 and orthogonal to 

, is

A. 2

B. 1

C. 0

D. none of these

Answer: A

Watch Video Solution

2(x2 + y2) + λx − (1 + λ2)y − 10 = 0

x2 + y2 + 4x + 6y + 3 = 0

70. A circle C of radius 1 is inscribed in an equilateral triangle PQR. The

points of contact of C with the sides PQ, QR, RP are D, E, F, respectively.

The line PQ is given by the equation  and the point D is √3x + y − 6 = 0

https://dl.doubtnut.com/l/_W8MoRk3SFWy8
https://dl.doubtnut.com/l/_TWtp0HxW6hFv
https://dl.doubtnut.com/l/_gsNEpX6huyTJ


. Further, it is given that the origin and the centre of C are

on the same side of the line PQ. (1)The equation of circle C is (2)Points E

and F are given by (3)Equation of the sides QR, RP are 

A. 


B. 


C. 


D. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( , )
3√3

2

3

2

y = + x + 1, y = − x − 1
2

√3

2

√3

y = x, y = 0
1

√3

y = x + 1, y = − x − 1
√3

2

√3

2

y = √3x, y = 0

(x − 2√3)
2

+ (y − 1)2 = 1

(x − 2√3)
2

+ (y + )
2

= 1
1

2

(x − √3)
2

+ (y + 1)
2

= 1

(x − √3)
2

+ (y − 1)
2

= 1

https://dl.doubtnut.com/l/_gsNEpX6huyTJ


71. If D,E and F are respectively, the mid-points of AB,AC and BC in ,

then BE+AF is equal to

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

ΔABC

( , )
√3

2

3

2
(√3, 0)

( , )
√3

2

1

2
(√3, 0)

( , )
√3

2

3

2
( , )

√3

2

1

2

( , )
3

2

√3

2
( , )

√3

2

1

2

72. In example 70, equations of the sides QR and RP are respectively

A. 

B. 

C. 

y = x + 1 and y = − x − 1
2

√3

2

√3

y = and y = 0
x

√3

y = x + 1 and y = − x − 1
√3

2

√3

2

https://dl.doubtnut.com/l/_iwc87PcejfjV
https://dl.doubtnut.com/l/_5noSMCkzLWeQ


D. 

Answer: D

View Text Solution

y = √3x and y = 0

73. A point on the line x=4 from which the tangents drawn to the circle

 are at right angles, is

A. (4, 3)

B. (4, 4)

C. (4, -4)

D. none of these

Answer: A

Watch Video Solution

2(x2 + y2) = 25

https://dl.doubtnut.com/l/_5noSMCkzLWeQ
https://dl.doubtnut.com/l/_E9XEfmV3HBK3


74. The tangents PA and PB are drawn from any point P of the circle

 to the circle . The chord of contact AB on

extending meets again the first circle at the points A' and B'. The locus of

the point of intersection of tangents at A' and B' may be given as

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 2a2 x2 + y2 = a2

x2 + y2 = 8a2

x2 + y2 = 4a2

x2 + y2 = 6a2

75. Two concentric circles of which smallest is , have the

difference in radii as d, if line y=x+1 cuts the circles in real points, then d

lies in the interval

x2 + y2 = 4

https://dl.doubtnut.com/l/_AezEHrmZesjq
https://dl.doubtnut.com/l/_sk9mzpwcbmFd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − ∞, − 2 − ) ∪ ( − 2 + , ∞)
1

√2

1

√2

( − 2 + , 2 + )
1

√2

1

√2

( − ∞, 1 − ) ∪ (1 + , ∞)
1

√2

1

√2

(1 − , 1 + )
1

√2

1

√2

76. If the circle 
 intersects the hyperbola 
 at four

points 
 and 
 then


 


A. 

B. 

C. 

x2 + y2 = a2 xy = c2

P (x1, y1), Q(x2, y2), R(x3, y3), S(x4, y4),

x1 + x2 + x3 + x4 = 0 y1 + y2 + y3 + y4 = 0 x1x2x3x4 = C 4

y1y2y3y4 = C 4

x1 + x2 + x3 + x4 = 01

y1 + y2 + y3 + y4 = 0

x1x2 + x3x4 = c4, y1y2y3y4 = c4

https://dl.doubtnut.com/l/_sk9mzpwcbmFd
https://dl.doubtnut.com/l/_kMqo3Yo9FjKJ


D. all of these

Answer: D

Watch Video Solution

77. If two distinct chords, drawn from the point (p, q) on the circle


 (where 
 are bisected by the x-axis, then



(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = px + qy pq ≠ q)

p2 = q2 p2 = 8q2 p2 < 8q2 p2 > 8q2

p2 = q2

p2 = 8q2

p2 < 8q2

p2 < 8q2

https://dl.doubtnut.com/l/_kMqo3Yo9FjKJ
https://dl.doubtnut.com/l/_6n339DQjbJH0
https://dl.doubtnut.com/l/_XNXwlVN8eYWJ


78. Let a and b be bonzero real numbers. Then the equation

 represents

A. four straight lines, when c = 0 and a, b are of the same sign.

B. two straight lines and a circle, when a=b, and c is of sign opposite

to that of a .

C. two straight lines and a hyperbola, when a and b are of the same

sign and c is of sign opposite to that of a.

D. a circle and an ellipse, when a and b are of the same sign and c is of

sign opposite to that of a.

Answer: B

Watch Video Solution

(ax2 + by2 + c)(x2 − 5xy + 6y2) = 0

79. If the circles 
 and points 
 , then

find the values of 
 for which the line 
 passes through 

x2 + y2 + 2ax + cy + a = 0 PandQ

a 5x + by − a = 0

PandQ.

https://dl.doubtnut.com/l/_XNXwlVN8eYWJ
https://dl.doubtnut.com/l/_9uMpltw4uOKo


A. exactly two values of a

B. infinitely many values of a

C. no value of a

D. exactly one value of a

Answer: C

Watch Video Solution

80. about to only mathematics

A. a parabola

B. a circle

C. an ellipse

D. a pair of straight lines.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9uMpltw4uOKo
https://dl.doubtnut.com/l/_bQhppUF3Xck4


81. If 
 then find the positive value of 
 for which 


 is a common tangent to 
 and 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a > 2b > 0, m

y = mx − b√1 + m2 x2 + y2 = b2

(x − a)2 + y2 = b2.

2b

√a2 − 4b2

√a2 − 4b2

2b

2b

a − 2b

b

a − 2b

82. A circle circumscribing an equilateral triangle with centroid at 

of a side a isdrawn and a square is drawn touching its four sides to circle.

The equation ofcircle circumscribing the square is :

(0, 0)

https://dl.doubtnut.com/l/_bQhppUF3Xck4
https://dl.doubtnut.com/l/_J0X0VzbGFDrF
https://dl.doubtnut.com/l/_6Hq8QXVEBj5p


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 2a2

3x2 + 3y2 = 2a2

5x2 + 5y2 = 3a2

83. Consider four circles 
 . Find the equation of

the smaller circle touching these four circles.

A. 

B. 

C. 

D. 

Answer: A

(x ± 1)2 + (y ± 1)2 = 1

(√2 − 1)a

(√2 + 1)a

(2 + √2a)

(2 − √2)a

https://dl.doubtnut.com/l/_6Hq8QXVEBj5p
https://dl.doubtnut.com/l/_qaPHpFLEit0h


Watch Video Solution

84. The radius of a circle is 20 cm. It is
 divided into four parts of equal

area by drawing three concentric circles
 inside it. Then, the radius of the

largest of three concentric circles drawn
 is
 (a) 
 cm
 (b) 
 cm
 (c)


cm
(d) 
cm

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

10√5 10√3

10 10√2

(√2 − 1)a

(√2 + 1)a

(2 + √2)a

(2 − √2)a

85. If circles  and 

 where  are such that one

x2 + y2 + 2x + 2y + c = 0

x2 + y2 + 2ax + 2ay + c = 0 c ∈ R+ , a ≠ 1

https://dl.doubtnut.com/l/_qaPHpFLEit0h
https://dl.doubtnut.com/l/_fV4l23JtlD02
https://dl.doubtnut.com/l/_sv0UyKNnGS2E


circle lies inside the other, then

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

a ∈ (0, √ ) − {1}
c

2

a ∈ ( − √ , √ ) − {1}
c

2
c

2

a ∈ ( − √ , 0)
c

2

86. A circle is passing through the points A (1, 1) and B (1, 3) and the

bisector of first and third quadrant is normal to it, then its area is

A. 

B. 

C. 

D. none of these

2π

4π

π

2

https://dl.doubtnut.com/l/_sv0UyKNnGS2E
https://dl.doubtnut.com/l/_FNLo04kXB5IP


Answer: A

Watch Video Solution

87. The equation of a circle which touches the line y = x at (1 , 1) and

having y = x -3 as a normal, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

4x2 + 4y2 − 20x + 4y + 8 = 0

x2 + y2 − 2x + 4y + 8 = 0

x2 + y2 − 10x − 4y + 8 = 0

88. The centres of a set of circles, each of radius 3, lie on the circle

. The locus of any point in the set is:
 (a) x2 + y2 + 25 4 ≤ x2 + y2 ≤ 64

https://dl.doubtnut.com/l/_FNLo04kXB5IP
https://dl.doubtnut.com/l/_Ey5M1hqWQ48a
https://dl.doubtnut.com/l/_Af09dK9QcG4y


(b)  (c)  (d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 ≤ 25 x2 + y2 ≥ 25 3 ≤ x2 + y2 ≤ 9

4 ≤ x2 + y2 ≤ 64

x2 + y2 ≤ 25

x2 + y2 ≥ 25

3 ≤ x2 + y2 ≤ 9

89. If the lines 
 and 
 cut the

coordinae axes at concyclic points, then prove that 

A. 

B. 

C. 

D. 

a1x + b1y + c1 = 0 a2x + b2y + c2 = 0

|a1a2| = |b1b2|

(a1x + b1y + c1)(a2x + b2y + c2) + xy = 0

(a1x + b1y + c1)(a2x + b2y + c2) + (a1b2 + a2b1)xy = 0

(a1x + b1y + c1)(a2x + b2y + c2) − (a1b2 + a2b1)xy = 0

(a1x + b1y + c1)(a2x + b2y + c2) − (a1b2 − a2b1) = 0

https://dl.doubtnut.com/l/_Af09dK9QcG4y
https://dl.doubtnut.com/l/_qd2a7wRsNFQx


Answer: C

Watch Video Solution

90. Tangents drawn from the point  to the circle 

 touch the circle at points A and B. The

equation of the cricumcircle of triangle PAB is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P (1, 8)

x2 + y2 − 6x − 4y − 11 = 0

x2 + y2 + 4x − 6y + 19 = 0

x2 + y2 − 4x − 10y + 19 = 0

x2 + y2 − 2x + 6y − 29 = 0

x2 + y2 − 6x − 4y + 19 = 0

https://dl.doubtnut.com/l/_qd2a7wRsNFQx
https://dl.doubtnut.com/l/_QK9fcM7new5X


91. A variable circle passes through the point 
and touches the x-

axis. Show that the locus of the other end of the
diameter through 
 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A(a, b)

A

(x − a)2 = 4by.

(y − q)2 = 4px

(x − q)2 = 4py

(y − p)2 = 4qx

(x − p)2 = 4qy

92. The centres of two circles  each of unit radius are at a

distance of 6 units from each other. Let P be the mid point of the line

segment joining the centres of  and C be a circle touching

circles  externally. If a common tangent to  and C passing

C1 and C2

C1 and C2

C1 and C2 C1

https://dl.doubtnut.com/l/_0TmAuRotpGib
https://dl.doubtnut.com/l/_OjlLV2II6hEQ


through P is also a common tangent to  and C, then the radius of the

circle C is

A. 4

B. 8

C. 6

D. 3

Answer: B

Watch Video Solution

C2

93. Three distinct points A, B and C are given in the 2aedimensional

coordinate plane such that the ratio of the distance of any one of them

from the point (1, 0) to the distance from the point (â€“1, 0) is equal to 

.Then the circumcentre of the triangle ABC is at the point :

A. (0, 0)

B. (5/4, 0)

1

3

https://dl.doubtnut.com/l/_OjlLV2II6hEQ
https://dl.doubtnut.com/l/_7W8ZymXZHJNd


C. (5/2, 0)

D. (5/3, 0)

Answer: B

Watch Video Solution

94. In , equation of side BC is x+y-6=0, also the circumcentre and

orhtocentre are (3, 1) and (2, 2) respectively, then the equation of the

circumcircle of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC

ΔABC

x2 + y2 − 6x − 2y + 10 = 0

x2 + y2 − 6x − 2y = 0

x2 + y2 − 2x − 3y − 10 = 0

x2 + y2 − 2x − 3y = 0

https://dl.doubtnut.com/l/_7W8ZymXZHJNd
https://dl.doubtnut.com/l/_dWjPbZ70SH6f


95. The locus of the mid-point of the chord of contact of tangents drawn

from points lying on the straight line  to the circle 

 is : (A)  (B) 

 (C)  (D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x − 5y = 20

x2 + y2 = 9 20(x2 + y2) − 36x + 45y = 0

20(x2 + y2) + 36x − 45y = 0 20(x2 + y2) − 20x + 45y = 0

20(x2 + y2) + 20x − 45y = 0

20(x2 + y6(2)) − 36x + 45y = 0

20(x2 + y2) + 36x − 45y = 0

36(x2 + y2) − 20x + 45y = 0

36(x2 + y2) + 20x − 45y = 0

96. A tangent PT is drawn to the circle  at the point 

. A straight line L, perpendicular to PT , is a tangent to the circle

x2 + y2 = 4 P(√3, 1)

https://dl.doubtnut.com/l/_dWjPbZ70SH6f
https://dl.doubtnut.com/l/_lmFzJc94iFoS
https://dl.doubtnut.com/l/_DyPy4zCHHynA


 


A common tangent of the two circles is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x − 3)2 + y2 = 1

x − √3y = 1

x + √3y = 1

x − √3y = − 1

x + √3y = 5

97. A common tangent to the circles  and ,

is

A. x=4

B. y=2

C. 

x2 + y2 = 4 (x − 3)2 + y2 = 1

x + √3y = 4

https://dl.doubtnut.com/l/_DyPy4zCHHynA
https://dl.doubtnut.com/l/_xqnABpeba0SQ


D. 

Answer: D

Watch Video Solution

x + 2√2y = 6

98. If the line y=mx +1 meets the circle  in two points

equidistant and on opposite sides of x-axis, then

A. 3m-2=0

B. 2m+3=0

C. 3m+2=0

D. 2m-3=0

Answer: B

Watch Video Solution

x2 + y2 + 3x = 0

https://dl.doubtnut.com/l/_xqnABpeba0SQ
https://dl.doubtnut.com/l/_SAZjO9004DgV


99. If three distinct point A, B, C are given in the 2-dimensional coordinate

plane such that the ratio of the distance of each one of them from the

point (1, 0) to the distance from (-1, 0) is equal to , then the

circumcentre of the triangle ABC is at the point :

A. (3, 0)

B. (5/3, 0)

C. (1/3, 0)

D. (0, 0)

Answer: B

Watch Video Solution

1

2

100. about to only mathematics

A. 3

B. 6

https://dl.doubtnut.com/l/_kt67hRma9DiA
https://dl.doubtnut.com/l/_vEkO7eXbdvRO


C. 9

D. 15

Answer: D

Watch Video Solution

101. Tangents  are drawn to the circle  from any

arbitrary point P on the line . The locus of mid-point of chord

of contact AB is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PA and PB x2 + y2 = 8

x + y = 4

x2 + y2 + 2x + 2y = 0

x2 + y2 − 2x − 2y = 0

x2 + y2 − 2x + 2y = 0

x2 + y2 + 2x − 2y = 0

https://dl.doubtnut.com/l/_vEkO7eXbdvRO
https://dl.doubtnut.com/l/_hdMezajLQ4gK


102. Given two circles  and 

. Let the radius of the third circle, which

touches the two given circles and to their common diameter, be 

The value of  is

A. A. 10

B. B. 8

C. C. 7

D. D. 5

Answer: B

Watch Video Solution

x2 + y2 + 3√2(x + y) = 0

x2 + y2 + 5√2(x + y) = 0

2λ − 1

λ

λ

103. Let RS be the diameter of the circle , where S is the point

(1,0). Let P be a variable point (other than R and S ) on the circle and

tangents to the circle at S and P meet at the point Q. The normal to the

x2 + y2 = 1

https://dl.doubtnut.com/l/_hdMezajLQ4gK
https://dl.doubtnut.com/l/_uHwEyovNd0wL
https://dl.doubtnut.com/l/_c2gpBjluV2TY


circle at P intersects a line drawn through Q parallel to RS at point E.

Then the locus of E passes through the point (s)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 2x

y2 = 1 − 2x

2x = y2 − 1

y2 = 1 − x

104. The circle C1 : , with center at O, intersects the parabola

 at the point P in the first quadrant. Let the tangent to the circle

C1 at P touches other two circles C2 and C3 at R2 and R3, respectively.

Suppose C2 and C3 have equal radii  and centers Q2 and Q3,

respectively.If  lies on the y-axis, then

A. 3

x2 + y2 = 3

x2 = 2y

2√3

Q2 and Q3

https://dl.doubtnut.com/l/_c2gpBjluV2TY
https://dl.doubtnut.com/l/_ifZqt8m6TfcL


B. 6

C. 9

D. 12

Answer: D

Watch Video Solution

105. A voltmeter of variable ranges 3V, 15V, 150 V is to designed by

connecting resistances  in series with a galvanometer of

resistance , as shown in the figure. The galvanometer gives full

pass through its coil. Then, the resistances  (in kilo ohms)

should be, respectively 

A. 

R1, R2, R3

G = 20Ω

R1, R2 and R3

4√6

https://dl.doubtnut.com/l/_ifZqt8m6TfcL
https://dl.doubtnut.com/l/_Cc66hDpRVKif


B. 

C. 

D. 

Answer: A

Watch Video Solution

2√6

3√6

6√6

106. In example 104, area of , in square units, is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

ΔOR2R3

2√6

3√6

6√2

6√3

https://dl.doubtnut.com/l/_Cc66hDpRVKif
https://dl.doubtnut.com/l/_0Y6wKvDpiXQw
https://dl.doubtnut.com/l/_v1CLenUthBd2


107. In example 104, area of , in square units is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ΔPQ2Q3

6√2

4√2

8√2

3√2

108. For how many values of p, the circle  and

the coordinate axes have exactly three common points ?

A. 1

B. 2

C. 3

D. 4

x2 + y2 + 2x + 4y − p = 0

https://dl.doubtnut.com/l/_v1CLenUthBd2
https://dl.doubtnut.com/l/_OJKAFZ3yxX98


Section-I (Solved MCQs)

Answer: B

Watch Video Solution

1. if one of the diameters of the circle, given by the equation,

, is a chord of a circles S, whose centre is at 

 , then the radius of S is

A. 

B. 5

C. 10

D. 

Answer: A

Watch Video Solution

x2 + y2 − 4x + 6y − 12 = 0

( − 3, 2)

5√3

5√2

https://dl.doubtnut.com/l/_OJKAFZ3yxX98
https://dl.doubtnut.com/l/_KuZYM5EQRfcu


Section II - Assertion Reason Type

1. about to only mathematics

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

2. Consider:
 
 
 where 

is a real number
 and 
 Statement 1 : If

line 
 is a chord of circle 
 then line 
 is not always a diameter of

L1 : 2x + 3y + p − 3 = 0 L2 : 2x + 3y + p + 3 = 0 p

C : x2 + y2 + 6x − 10y + 30 = 0

L1 C, L2

https://dl.doubtnut.com/l/_6NvkpHYj6c0B
https://dl.doubtnut.com/l/_9cQibJDi5dy9


circle 
Statement 2 : If line 
is a a diameter of circle 
then line 
 is

not a chord of circle 
Both the statement are True and Statement 2 is

the correct explanation
of Statement 1. Both the statement are True but

Statement 2 is not the correct
explanation of Statement 1.
Statement 1 is

True and Statement 2 is False.
 Statement 1 is False and Statement 2 is

True.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: C

Watch Video Solution

C. L1 C, L2

C.

https://dl.doubtnut.com/l/_9cQibJDi5dy9


3. Consider three circles  and  as given below: 

 


 


 


Statement-1: If the circle  intersects  orthogonally , then  does not

represent a circle. 

Statement-2: If the circle  intersects  orthogonally, then  and 

have equal radii.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

C1, C2 C3

C1 : x2 + y2 + 2x − 2y + p = 0

C2 : x2 + y2 − 2x + 2y − p = 0

C3 : x2 + y2 = p2

C3 C1 C2

C3 C2 C2 C3

https://dl.doubtnut.com/l/_mOFoH3gPvr1Z


4. Statement-1: The equation  represents a circle

with centre (2, 2) passing through the origin. 

Statement-2: The equation  represents a

point.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

x2 − y2 − 4x − 4y = 0

x2 + y2 + 4x + 6y + 13 = 0

https://dl.doubtnut.com/l/_mOFoH3gPvr1Z
https://dl.doubtnut.com/l/_UjqsT4YOlxVN


5. Statement-1: If limiting points of a family of co-axial system of circles

are (1, 1) and (3, 3), then  is a member of this

family passing through the origin. 

Statement-2: Limiting points of a family of coaxial circles are the centres

of the circles with zero radius.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

2x2 + 2y2 − 3x − 3y = 0

https://dl.doubtnut.com/l/_THhnwrOah2jN


6. Statement-1: The equation of a circle through the origin and belonging

to the coaxial system, of which limiting points are (1, 1) and (3, 3) is

 


Statement-2: The equation of a circle passing through the points (1, 1)

and (3, 3) is .

A. Option1 Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Option2 Statement-1 is True, Statement-2 is not a correct

explanation for Statement-1.

C. Option3 Statement-1 is True, Statement-2 is False.

D. Option4 Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

2x2 + 2y2 − 3x − 3y = 0

2x2 + y2 − 2x − 6y + 6 = 0

https://dl.doubtnut.com/l/_XqZUUiEltxUr


7. Statement-1: The common chord of the circles


 is of maximum length if 





Statement-2: The common chord of two circles is of maximum length
if it

passes through the centre of the circle with smaller radius.

(A)Statement -1 is True, Statement -2 is True ;
 Statement -2 is a correct

explanation for Statement -1

(B) Statement-1 is True, Statement-2 is True ;
 Statement-2 is NOT correct

explanation for Statement-1

(C)Statement -1 is True, Statement -2 is False

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

x2 + y2 − 10x + 16 = 0andx2 + y2 = r2

r2 = 34

https://dl.doubtnut.com/l/_LTujjnZjkkbL


Answer: A

Watch Video Solution

8. Statement-1: The line  is the chord of contact of

tangents drawn from a point P to the circle

. 


Statement-2: The line segment joining the points of contacts of the

tangents drawn from an external point P to a circle is the chord of

contact of tangents drawn from P with respect to the given circle

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

x + 9y − 12 = 0

2x2 + 2y2 − 3x + 5y − 7 = 0

https://dl.doubtnut.com/l/_LTujjnZjkkbL
https://dl.doubtnut.com/l/_uN01ToDlDtwb


Answer: D

Watch Video Solution

9. Statement-1: The centre of the circle passing through the points (0, 0),

(1, 0) and touching the circle  lies inside the circle. 


Statement-2: If a circle  passes through the centre of the circle  and

also touches the circle, the radius of the circle  is twice the radius of

circle 

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

C : x2 + y2 = 9

C1 C2

C2

C1

https://dl.doubtnut.com/l/_uN01ToDlDtwb
https://dl.doubtnut.com/l/_qKDgkIdhaC9H


Watch Video Solution

10. Statement-1: The equation  represents the

combined equation of a straight line and a circle. 

Statement-2: The equation of the straight line contained in

 is 

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

x3 + y3 + 3xy = 1

x3 + y3 + 3xy = 1 x + y = 1

https://dl.doubtnut.com/l/_qKDgkIdhaC9H
https://dl.doubtnut.com/l/_Ipc7Fd19aTuX
https://dl.doubtnut.com/l/_AVzCOA9MouFO


11. Show that the common tangents to the circles

 form an equilateral triangle.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

x2 + y2 − 6x = 0 and x2 + y2 + 2x = 0

12. about to only mathematics

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

https://dl.doubtnut.com/l/_AVzCOA9MouFO
https://dl.doubtnut.com/l/_DBXLg9AltqKj


Exercise

B. Statement-1 is True, Statement-2 is not a correct explanation for

Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

1. The centre of the circle passing through the points

 is

A. (a, b)

B. (a/2, b/2)

C. (-a/2, -b/2)

D. (-a, -b)

(h, 0), (k.0), (0, h), (0, k)

https://dl.doubtnut.com/l/_DBXLg9AltqKj
https://dl.doubtnut.com/l/_JO2FahSjXnT0


Answer: B

Watch Video Solution

2. The circle  cuts an intercept on Y-axis is of

length

A. 3

B. 4

C. 7

D. 1

Answer: D

Watch Video Solution

x2 + y2 + 4x − 7y + 12 = 0

3. A square is inscribed in the circle 
. Its sides

are parallel to the coordinate axes. One vertex of the
 square is

x2 + y2 − 2x + 4y + 3 = 0

https://dl.doubtnut.com/l/_JO2FahSjXnT0
https://dl.doubtnut.com/l/_Nd7AMGalz0G2
https://dl.doubtnut.com/l/_bdRBEbbrS2qY



(b) 
 
(d) none of these

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(1 + √2, − 2) (1 − √2, − 2) (1, − 2 + √2)

(1 + √2, − 2)

(1 − √2, − 2)

(1, − 2 + √2)

4. If the circle  cuts off a chord of length  from the line 

, then

A. 

B. 

C. 

D. 

x2 + y2 = a2 2b

y = mx + c

√a2(a + m2) < c

√a2(1 − m2) < c

√a2(a + m2) > c

√a2(1 − m2) > c

https://dl.doubtnut.com/l/_bdRBEbbrS2qY
https://dl.doubtnut.com/l/_tpOlJC6NM5o7


Answer: C

Watch Video Solution

5. The area of the circle centred at (1,2) and passing through the point

(4,6) is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

5π

10π

25π

6. For the equation 

 where , to represent aax2 + by2 + 2hxy + 2gx + 2fy + c = 0 a ≠ 0

https://dl.doubtnut.com/l/_tpOlJC6NM5o7
https://dl.doubtnut.com/l/_k8LVCBsBG7GZ
https://dl.doubtnut.com/l/_xHGT0wUJJE7x


circle, the condition will be

A. a=b and c=0

B. f=g and h=0

C. a=b and h=0

D. f=g and c=0

Answer: C

Watch Video Solution

7. The equation of the circle passing through (4, 5) having the centre (2,

2), is

A. 

B. 

C. 

D. 

x2 + y2 + 4x + 4y − 5 = 0

x2 + y2 − 4x − 4y − 5 = 0

x2 + y2 − 4x − 13 = 0

x2 + y2 − 4x − 4y + 5 = 0

https://dl.doubtnut.com/l/_xHGT0wUJJE7x
https://dl.doubtnut.com/l/_DlmItPsICyPG


Answer: B

Watch Video Solution

8. The locus of the centre of a circle of radius 2 which rolls on the outside

of circle  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + 3x − 6y − 9 = 0

x2 + y2 + 3x − 6y + 5 = 0

x2 + y2 + 3x − 6y − 31 = 0

x2 + y2 + 3x − 6y + = 0
29

4

9. Find the values of 
 for which the points


lie on a circle.

k

(2k, 3k), (1, 0), (0, 1), and(0, 0)

https://dl.doubtnut.com/l/_DlmItPsICyPG
https://dl.doubtnut.com/l/_XBSzm4KEYBVX
https://dl.doubtnut.com/l/_HWvlVASoEB5d


A. all integral values of k

B. 

C. 

D. for two values of k

Answer: D

Watch Video Solution

0 < k < 1

k < 0

10. A square is inscribed in the circle 
 with

its sides parallel to the coordinate axes. The coordinates of its
 vertices

are


A. (-6, -9), (-6, 5), (8, -9), (8, 5)

B. (-6, 9), (-6, -5), (8, -9), (8, 5)

x2 + y2 − 2x + 4y − 93 = 0

( − 6, − 9), ( − 6, 5), (8, − 9), (8, 5)

( − 6, − 9), ( − 6, − 5), (8, − 9), (8, 5)

( − 6, − 9), ( − 6, 5), (8, 9), (8, 5)

( − 6, − 9), ( − 6, 5), (8, − 9), (8, − 5)

https://dl.doubtnut.com/l/_HWvlVASoEB5d
https://dl.doubtnut.com/l/_Julcc0MiUMrp


C. (-6, -9), (-6, 5), (8, 9), (8, 5)

D. (-6, -9), (-6, 5), (8, -9), (8, -5)

Answer: A

Watch Video Solution

11. about to only mathematics

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(α + β)2 − r2

α2 + β2 − r2

(α − β)2 + r2

https://dl.doubtnut.com/l/_Julcc0MiUMrp
https://dl.doubtnut.com/l/_LIU6kq56T5BX


12. The equation of circles passing through  touching both the

axes is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, − 6)

x2 + y2 − 6x + 6y + 9 = 0

x2 + y2 + 6x − 6y + 9 = 0

x2 + y2 + 30x − 30y + 225 = 0

x2 + y2 + 30x + 30y + 225 = 0

13. The centre of a circle passing through (0,0), (1,0) and touching the

CircIe  is
 a. 
 b. 
 c. 
 d. 

.

A. (3/2, 1/2)

x2 + y2 = 9 ( , √2)
1

2
( , )

1

2

3

√2
( , )

3

2

1

√2

( , − )
1

2

1

√2

https://dl.doubtnut.com/l/_uZpHsQsB0q3p
https://dl.doubtnut.com/l/_e85D60hUOXDA


B. (1/2, 3/2)

C. (1/2, 1/2)

D. (1/2, )

Answer: D

Watch Video Solution

−√2

14. If  and  are parallel tangents to circle,

then radius of the circle, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x − 4y = 9 6x − 12y + 7 = 0

√3

5

17

6√5

√2

3

17

3√5

https://dl.doubtnut.com/l/_e85D60hUOXDA
https://dl.doubtnut.com/l/_Lu521ku7eGfD


15. Equation of the diameter of the circle is given by

 is given by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 12x + 4 + 6 = 0

x + y = 0

x + 3y = 0

x = y

3x + 2y = 0

16. The length of the chrod cut-off by y=2x+1 from the circle 

is

A. 

B. 

x2 + y2 = 2

5/6

6/5

https://dl.doubtnut.com/l/_Lu521ku7eGfD
https://dl.doubtnut.com/l/_1stMxM4PEknJ
https://dl.doubtnut.com/l/_3UsjAERUgBJo


C. 

D. 

Answer: C

Watch Video Solution

6/√5

√5/6

17. Area of a circle in which a chord of length  makes an angle  at the

centre is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2
π

2

π/2

2π

π

π/4

https://dl.doubtnut.com/l/_3UsjAERUgBJo
https://dl.doubtnut.com/l/_ibzPW8Rh9TUD
https://dl.doubtnut.com/l/_EUUygnsaESce


18. The coordinates of the middle point of the chord cut-off by


 by the circle 
 are


(b) 
(c) 
(d) 

A. (1, 4)

B. (2, 4)

C. (4, 1)

D. (1, 1)

Answer: A

Watch Video Solution

2x − 5y + 18 = 0 x2 + y2 − 6x + 2y − 54 = 0 (1, 4)

(2, 4) (4, 1) (1, 1)

19. Find the equation of the circle passing through
 the points


and whose centre lies on the 

A. 

B. 

(1, − 2)and(4, − 3) 3x + 4y = 7.

x2 + y2 − 94x + 18y + 55 = 0

15x2 + 15y2 − 94x + 18y + 55 = 0

https://dl.doubtnut.com/l/_EUUygnsaESce
https://dl.doubtnut.com/l/_tFQfW32oMp6x


C. 

D. 

Answer: B

Watch Video Solution

15x2 + 15y2 + 94x + 18y + 55 = 0

x2 + y2 − 94x − 18y + 55 = 0

20. about to only mathematics

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2x − 2y − 62 = 0

x2 + y2 − 2x + 2y − 62 = 0

x2 + y2 − 2x + 2y − 47 = 0

x2 + y2 + 2x − 2y − 47 = 0

https://dl.doubtnut.com/l/_tFQfW32oMp6x
https://dl.doubtnut.com/l/_CAHpYCDyU60l


21. Equation of the circle with centre on the Y-axis and passing through

the origin and the point (2,3) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 13y = 0

3x2 + 3y2 − 13y = 0

x2 + y2 + 13x + 3 = 0

6x2 + 6y2 − 13x = 0

22. If the lines 
 and 
 cut the

coordinae axes at concyclic points, then prove that 

A. 

B. 

C. 

a1x + b1y + c1 = 0 a2x + b2y + c2 = 0

|a1a2| = |b1b2|

|a1a2| = |b1b2|

|a1b1| = |a2b2|

|a1b2| = |a2b1|

https://dl.doubtnut.com/l/_37IzpsB5327P
https://dl.doubtnut.com/l/_LkvtUqicQ0jm


D. none of these

Answer: A

Watch Video Solution

23. about to only mathematics

A. 2, 1/3

B. 1/3, 1

C. 6

D. 3

Answer: A

Watch Video Solution

24. about to only mathematics

https://dl.doubtnut.com/l/_LkvtUqicQ0jm
https://dl.doubtnut.com/l/_KHKu7YvmFvrr
https://dl.doubtnut.com/l/_muiFuLerrBr1


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + ax + ay = 0

x2 + y2 + ax − ay = 0

x2 + y2 − ax − ay = 0

x2 + y2 − ax + ay = 0

25. If the point (2,0) ,(0,1) , ( 4,5) and ( 0,c) are concyclic, then the value of c

is 

A. 1

B. 14/3

C. 5

D. none of these

Answer: B

:

https://dl.doubtnut.com/l/_muiFuLerrBr1
https://dl.doubtnut.com/l/_XQt7EW0KRR7D


Watch Video Solution

26. Find the point of intersection of the following pairs of lines:

A. A, B, C, D are concyclic

B. A, B, C, D from a parallelogram

C. A, B, C, D form a rhombus

D. none of these

Answer: A

Watch Video Solution

bx + ay = ab and bx + ay = ab.

27. Two perpendicular tangents to the circle  meet at P.

Then the locus of P has the equation.

A. 

x2 + y2 = a2

x2 + y2 − 2a2

https://dl.doubtnut.com/l/_XQt7EW0KRR7D
https://dl.doubtnut.com/l/_gtk8UXuiXCu0
https://dl.doubtnut.com/l/_VlKVV6Wibqbg


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 3a2

x2 + y2 = 4a2

28. The equation of the tangents drawn from the origin to the circle

 are

A. x=0, y=0

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 2rx − 2hy + h2 = 0

y = 0, (h2 − r2)x − 2rhy = 0

x = 0, (h2 − r2)x − 2rhy = 0

x = 0, (h2 − r2)x + 2rhy = 0

https://dl.doubtnut.com/l/_VlKVV6Wibqbg
https://dl.doubtnut.com/l/_9fh6N3LW36Pn


29. If from any point 
 on the circle 

tangents are drawn to the circle


 , then find the

angle between the tangents.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

P x2 + y2 + 2gx + 2fy + c = 0,

x2 + y2 + 2gx + 2fy + c sin2 α + (g2 + f 2)cos2 α = 0

α

2α

α/2

30. If the equation of a given circle is 
 then the length of

the chord which lies along the
 line 
 is
 
 2. 
 3. 


4. none
of these

x2 + y2 = 36,

3x + 4y − 15 = 0 3√6 2√3

6√3

https://dl.doubtnut.com/l/_9fh6N3LW36Pn
https://dl.doubtnut.com/l/_Zo15urIaPxk4
https://dl.doubtnut.com/l/_G3vud6GduvRa


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

3√6

2√3

6√3

31. Find the angle which the common chord of 

and 
subtends at the origin.

A. 

B. 

C. 

D. 

Answer: D

x2 + y2 − 4x − 4y = 0

x2 + y2 = 16

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_G3vud6GduvRa
https://dl.doubtnut.com/l/_MLO0ViET1EI4


Watch Video Solution

32. Show that the equation of the circle passing through (1, 1) and the

points of intersection of the circles 
 and 


is 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + 13x − 13y = 0

2x2 + 2y2 + 4x − 7y − 25 = 0 4x2 + 4y2 + 30x − 13y − 25 = 0.

4x2 + 4y2 − 30x − 10y − 25 = 0

4x2 + 4y2 + 30x − 13y − 25 = 0

4x2 + 4y2 − 17x − 10y + 25 = 0

33. The tangents to 
having inclinations 
and 
intersect at


If 
, then find the locus of 

x2 + y2 = a2 α β

P . cot α cot β = 0 P .

https://dl.doubtnut.com/l/_MLO0ViET1EI4
https://dl.doubtnut.com/l/_BmT4cH0ZkjtP
https://dl.doubtnut.com/l/_UlHvmmMAkLuD


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x + y = 0

x − y = 0

xy = 0

34. Find the equation of a circle with center (4, 3) touching the circle

A. 

B. 

C. 

D. none of these

Answer: C

x2 + y2 = 1

x2 + y2 − 8x − 6y − 9 = 0

x2 + y2 − 8x − 6y + 11 = 0

x2 + y2 − 8x − 6y − 11 = 0, x2 + y2 − 8x − 6y + 9 = 0

https://dl.doubtnut.com/l/_UlHvmmMAkLuD
https://dl.doubtnut.com/l/_3rIl4CyMfZfD


Watch Video Solution

35. Find the number of common
tangents that can be drawn to the circles


and 

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

x2 + y2 − 4x − 6y − 3 = 0 x2 + y2 + 2x + 2y + 1 = 0

36. If 
 is a tangent to a circle whose center is 
 , then

find the equation of the other tangent to the circle from the
origin.

A. 

3x + y = 0 (2, − 1)

x − 3y = 0

https://dl.doubtnut.com/l/_3rIl4CyMfZfD
https://dl.doubtnut.com/l/_NKVQIEO2sLTD
https://dl.doubtnut.com/l/_AB1MFlu0NLLo


B. 

C. 

D. 

Answer: A

Watch Video Solution

x + 3y = 0

3x − y = 0

2x + y = 0

37. Find the condition if the circle whose equations are


 and 
 touch one another

externally.

A. 

B. 

C. 

D. none of these

Answer: C

x2 + y2 + c2 = 2ax x2 + y2 + c2 − 2by = 0

+ =
1

b2

1

c2

1

a2

+ =
1

c2

1

a2

1

b2

+ =
1

a2

1

b2

1

c2

https://dl.doubtnut.com/l/_AB1MFlu0NLLo
https://dl.doubtnut.com/l/_lIamux3iWIka


Watch Video Solution

38. about to only mathematics

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

g2 + f 2

(g2 + f 2 + c)
1

2

g2 + f 2 + c

2√g2 + f 2

g2 + f 2 − c

2√g2 + f 2

39. The condition that the chord 
 of 


may subtend a right angle at the center of the circle is

_

A. 

x cosα + y sinα − p = 0

x2 + y2 − a2 = 0

a2 = 2p2

https://dl.doubtnut.com/l/_lIamux3iWIka
https://dl.doubtnut.com/l/_UCuUd1NCtdZL
https://dl.doubtnut.com/l/_1O8IcamrGr76


B. 

C. 

D. 

Answer: A

Watch Video Solution

p2 = 2a2

a = 2p

p = 2a

40. The locus of the centres of the circles which touch  and 

, externally

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = a2

x2 + y2 = 4ax

12(x − a)2 − 4y2 = 3a2

9(x − a)2 − 5y2 = 2a2

8x2 − 3(y − a)2 = 9a2

https://dl.doubtnut.com/l/_1O8IcamrGr76
https://dl.doubtnut.com/l/_2X2AzQTsICnS


41. Let 
 be a point on the circle 
 a point on the line 


 , and the perpendicular bisector of 
 be the line 


 . Then the coordinates of 
 are
 
 (b) 


(d) 

A. (3, 0)

B. (0, 3)

C. (72/25, -21/25)

D. (-72/25, -21/25)

Answer: A

Watch Video Solution

P x2 + y2 = 9, Q

7x + y + 3 = 0 PQ

x − y + 1 = 0 P (0, − 3) (0, 3)

( , )
72
25

21

35
( − , )

72
25

21

25

42. Two lines through  from which the circle 

intercepts chords of length  units have equations 

(A) ,  


(2, 3) x2 + y2 = 25

8

2x + 3y = 13 x + 5y = 17

https://dl.doubtnut.com/l/_2X2AzQTsICnS
https://dl.doubtnut.com/l/_J1vkeCIjdn8h
https://dl.doubtnut.com/l/_tdaFi4nHSr2E


(B) ,  


(C) ,  


(D) , 

A. 

B. 

C. 

D. y
=
0
, 12
x
+
5
y
=
39

Answer: B

Watch Video Solution

y = 3 12x + 5y = 39

x = 2 9x − 11y = 51

y = 0 12x + 5y = 39

2x + 3y = 13, x + 5y = 17

y = 3, 12x + 5y = 39

x = 2, 9x − 11y = 51

43. A line meets the coordinate axes at 
and 
. A circle is circumscribed

about the triangle 
If 
are distances of the tangents to the

circle at the origin 
 from the points 
 , respectively, then the

diameter of the circle is
 (a) 
 (b) 
 (c) 
 (d) 

A B

OAB. d1andd2

O AandB

2d1 + d2

2
d1 + 2d2

2
d1 + d2

d1d2

d1 + d2

https://dl.doubtnut.com/l/_tdaFi4nHSr2E
https://dl.doubtnut.com/l/_rhROgkXfvq6F


A. m(m+n)

B. n(m+n)

C. m-n

D. none of these

Answer: D

Watch Video Solution

44. Find the co-ordinate of the point on the circle

, which is farthest from the origin.

A. (9, 3)

B. (8, 5)

C. (12, 4)

D. none of these

Answer: A

x2 + y2 − 12x − 4y + 30 = 0

https://dl.doubtnut.com/l/_rhROgkXfvq6F
https://dl.doubtnut.com/l/_8RJdgIHr2Anj


Watch Video Solution

45. If the angle of intersection of the circle 
 and 


is 
, then the equation of the line passing through

(1, 2) and making an
angle 
with the y-axis is
 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + x + y = 0

x2 + y2 + x − y = 0 θ

θ x = 1 y = 2 x + y = 3

x − y = 3

π/6

π/4

π/3

π/2

46. Find the equation of the circle whose radius is 
 which touches

the circle 
externally at the point 

5and

x2 + y2 − 2x − 4y − 20 = 0 (5, 5).

https://dl.doubtnut.com/l/_8RJdgIHr2Anj
https://dl.doubtnut.com/l/_CXm0wP6O4JTG
https://dl.doubtnut.com/l/_NoyzDslwMy4F


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x2 + y2) + 18x + 16y + 120 = 0

(x2 + y2) + 18x − 16y + 120 = 0

(x2 + y2) − 18x + 16y + 120 = 0

(x2 + y2) − 18x − 16y + 120 = 0

47. If AB is a diameter of a circle and C is any point on the circle, then

show that the area of  is maximum, when it is isosceles.

A. the area of  is maximum when it is isosceles

B. the area of  is minimum when it is isosceles

C. the perimeter of  is maximum when it is isosceles

D. none of these

Answer: A

ΔABC

ΔABC

ΔABC

ΔABC

https://dl.doubtnut.com/l/_NoyzDslwMy4F
https://dl.doubtnut.com/l/_UXHPpj4hHhI6


Watch Video Solution

48. The locus of the midpoint of a chord of the circle 
which

subtends a right angle at the origins is
 (a) 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 4

x + y = 2 x2 + y2 = 1

x2 + y2 = 2 x + y = 1

x + y = 2

x2 + y2 = 1

x2 + y2 = 2

x + y = 1

49. The point of which the line  is the chord of contact

of the circle  is

9x + y − 28 = 0

2x2 + 2y2 − 3x + 5y − 7 = 0

https://dl.doubtnut.com/l/_UXHPpj4hHhI6
https://dl.doubtnut.com/l/_J8UiE4qM9KvH
https://dl.doubtnut.com/l/_bJDSSwz7Po7z


A. (3, 1)

B. (1, 3)

C. (3, -1)

D. (-3, -1)

Answer: C

Watch Video Solution

50. If the tangents are drawn to the circle 
 at the point

where it meets the circle 
 then find the

point of intersection of these tangents.

A. (6, -6)

B. (6, 18/5)

C. (6, -18/5)

D. none of these

x2 + y2 = 12

x2 + y2 − 5x + 3y − 2 = 0,

https://dl.doubtnut.com/l/_bJDSSwz7Po7z
https://dl.doubtnut.com/l/_MjFXqYY6n0qf


Answer: B

Watch Video Solution

51. If the straight line 
 intersects the circle 

at point 
, then find the coordinates of the point of intersection of

the
tangents drawn at 
to the circle 

A. (25, 50)

B. (-25, -50)

C. (-25, 50)

D. (25, -50)

Answer: C

Watch Video Solution

x = 2y + 1 = 0 x2 + y2 = 25

PandQ

PandQ x2 + y2 = 25.

https://dl.doubtnut.com/l/_MjFXqYY6n0qf
https://dl.doubtnut.com/l/_Oo3jvvv4x94W


52. If the chord of contact of the tangents drawn from the point 
to

the circle 
subtends a right angle at the center, then prove

that 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(h, k)

x2 + y2 = a2

h2 + k2 = 2a2.

h2 + k2 = a2

2(h2 + k2) = a2

h2 − k2 = a2

h2 + k2 = 2a2

53. Find the equation of the circle which cuts the three circles


 and


orthogonally.

A. 

x2 + y2 − 3x − 6y + 14 = 0, x2 + y2 − x − 4y + 8 = 0,

x2 + y2 + 2x − 6y + 9 = 0

x2 + y2 − 2x − 4y + 1 = 0

https://dl.doubtnut.com/l/_MIdjrhspvqNR
https://dl.doubtnut.com/l/_oMUkgyACcOsl


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 2x + 4y + 1 = 0

x2 + y2 − 2x + 4y + 1 = 0

x2 + y2 − 2x − 4y − 1 = 0

54. The equation of a circle which passes through (2a, 0) and whose

radical axis in relation to the circle , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = a2isx =
a

2

x2 + y2 − ax = 0

x2 + y2 + 2ax = 0

x2 + y2 − 2ax = 0

x2 + y2 + ax = 0

https://dl.doubtnut.com/l/_oMUkgyACcOsl
https://dl.doubtnut.com/l/_ww2yjby9tlcv


55. If the circle 
 bisects the circumference

of the circle 
 then prove that


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2g ′x + 2f ′y + c ′ = 0

2g ′ (g − g ′ ) + 2f ′ (f − f ′ ) = c − c'

2g(g − g' ) + 2f(f − f' ) = c − c'

2g(g − g' ) + 2f' (f − f' ) = c' − c

2g' (g − g' ) + 2f' (f − f' ) = c − c'

2g(g − g' ) + 2f(f − f' ) = c' − c

56. If the pole of a straight line with respect to the circle 

lies on the circle , then the straight line touches the circle

A. 

x2 + y2 = a2

x2 + y2 = 9a2

9a2 = r2

https://dl.doubtnut.com/l/_ww2yjby9tlcv
https://dl.doubtnut.com/l/_2LlE9Hd6SI6K
https://dl.doubtnut.com/l/_Ew2y5CJwX9au


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

9r2 = a2

r2 = a2

57. Find the equation of the chord of the circle 
 whose

middle point is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 9

(1, − 2)

x − 2y = 9

x − 2y − 2 = 0

x − 2y − 5 = 0

x − 2y + 5 = 0

https://dl.doubtnut.com/l/_Ew2y5CJwX9au
https://dl.doubtnut.com/l/_VseTqpMT6iir


58. Locus of the mid points of the chords of the circle 

which pass through the fixed point 
 is








A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = a2

(h, k) x2 + y2 + 2hx + 2ky = 0

x2 + y2 − 2hx − 2ky = 0 x2 + y2 + hx + ky = 0

x2 + y2 − hx − ky = 0 x2 + y2 + hx − ky = 0

x2 + y2 − hx − ky = 0

x2 + y2 + hx + ky = 0

x2 + y2 − 2hx − 2ky = 0

x2 + y2 + 2hx + 2ky = 0

59. If the circles  and 

touch each other, then

(x − a)2 + (y − b)2 = c2 (x − b)2 + (y − a)2 = c2

https://dl.doubtnut.com/l/_VseTqpMT6iir
https://dl.doubtnut.com/l/_xVJVVo8H3rgd
https://dl.doubtnut.com/l/_TcPzNCIxpEAz


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

a = b ± 2c

a = b ± √2c

a = b ± c

60. Equation of circle symmetric to the circle

 about the line  is

A. 

B. 

C. 

D. 

Answer: D

x2 + y2 + 16x − 24y + 183 = 0 4x + 7y + 13 = 0

x2 + y2 + 32x − 4y + 235 = 0

x2 + y2 + 32x + 4y − 235 = 0

x2 + y2 + 32x − 4y − 235 = 0

x2 + y2 + 32x + 4y + 235 = 0

https://dl.doubtnut.com/l/_TcPzNCIxpEAz
https://dl.doubtnut.com/l/_9bWyFZyTvTHA


Watch Video Solution

61. The number of the tangents that can be drawn from (1, 2) to

, is

A. 1

B. 2

C. 3

D. 0

Answer: A

Watch Video Solution

x2 + y2 = 5

62. Equation of the circle through the origin and making intercepts of 3

and 4 on the positive sides of the axes is

A. x2 + y2 + 3x + 4y = 0

https://dl.doubtnut.com/l/_9bWyFZyTvTHA
https://dl.doubtnut.com/l/_cdMGDBLPbx4u
https://dl.doubtnut.com/l/_9S24FDLYRLZh


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 3x − 4y = 0

x2 + y2 + 3x − 4y = 0

x2 + y2 − 3x + 4y = 0

63. If 
 is a chord of the circle 
 , find the

equation of a circle with this chord as
diameter.

Watch Video Solution

y = 2x x2 + y2 − 10x = 0

64. The tangent to  which is parallel to y-axis and does not lie

in the third quadrant touchers the circle at the point

A. (3, 0)

B. (-3, 0)

x2 + y2 = 9

https://dl.doubtnut.com/l/_9S24FDLYRLZh
https://dl.doubtnut.com/l/_RlIFUYnDpGvQ
https://dl.doubtnut.com/l/_3LbjYoXTi1nn


C. (0, 3)

D. (0, -3)

Answer: A

Watch Video Solution

65. The two circles  and 

A. touch each other externally

B. touch each other internally

C. cut each other orthogonally

D. do not intersect

Answer: B

Watch Video Solution

x2 + y2 − 5 = 0 x2 + y2 − 2x − 4y − 15 = 0

https://dl.doubtnut.com/l/_3LbjYoXTi1nn
https://dl.doubtnut.com/l/_G6hmK5ur4Yrf


66. If the circle 
 cuts 


at 
 , then find the equation of the

circle on 
as diameter.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + 2x + 3y + 1 = 0

x2 + y2 + 4x + 3y + 2 = 0 A and B

AB

x2 + y2 + x + 3y + 3 = 0

2x2 + 2y2 + 2x + 6y + 1 = 0

x2 + y2 + x + 6y + 1 = 0

67. The circle  cuts the circle  at the

points A and B. If the circle  passes through A and

B then the value of k , is

A. -4

x2 + y2 = 4 x2 + y2 − 2x − 4 = 0

x2 + y2 − 4x − k = 0

https://dl.doubtnut.com/l/_i4u3oajHCAVL
https://dl.doubtnut.com/l/_N6Lc49yJSLmU


B. 0

C. -8

D. 4

Answer: D

Watch Video Solution

68. If the circle 
 is touched by 
 at 

such that 
then the value of 
 is
36 (b) 144
(c) 72 (d)
none of

these

A. 36

B. 144

C. 72

D. none of these

Answer: C

x2 + y2 + 2gx + 2fy + c = 0 y = x P

OP = 6√2, c

https://dl.doubtnut.com/l/_N6Lc49yJSLmU
https://dl.doubtnut.com/l/_xJwgcWBQOB0t


Watch Video Solution

69. The number of common tangents of the circles 

and , is

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

x2 + y2 + 4x + 1 = 0

x2 + y2 − 2y − 7 = 0

70. The length of the common chord of the circles 

and , is

A. 

x2 + y2 − 2x − 1 = 0

x2 + y2 + 4y − 1 = 0

√15/2

https://dl.doubtnut.com/l/_xJwgcWBQOB0t
https://dl.doubtnut.com/l/_tUVqpy0LM6uE
https://dl.doubtnut.com/l/_8Icjc3P8DiQt


B. 

C. 

D. none of these

Answer: D

Watch Video Solution

√15

2√15

71. If a circle passes through the point  and cuts the circle 

 orthogonally, then the locus of its centre is
 (a)


 (b) 
 (c) 


 (d) 

A. 

B. 

C. 

D. none of these

(a, b)

x2 + y2 = 4

2ax + 2by − (a2 + b2 + 4) = 0 2ax + 2by − (a2 − b2 + k2) = 0

x2 + y2 − 3ax − 4by + (a2 + b2 − k2) = 0

x2 + y2 − 2ax − 3by + (a2 − b2 − k2) = 0

2x + 4y − 9 = 0

2x + 4y + 9 = 0

2x − 4y + 9 = 0

https://dl.doubtnut.com/l/_8Icjc3P8DiQt
https://dl.doubtnut.com/l/_xzqvizJ8fYH0


Answer: A

Watch Video Solution

72. If the lines 
 are tangents to a

circle, then find the radius of the
circle.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

3x − 4y + 4 = 0adn6x − 8y − 7 = 0

1/4

1/2

3/4

73. Coordinates of the centre of the circle which bisects the

circumferences of the circles  and x2 + y2 = 1; x2 + y2 + 2x − 3 = 0

https://dl.doubtnut.com/l/_xzqvizJ8fYH0
https://dl.doubtnut.com/l/_y210JItoTp6Z
https://dl.doubtnut.com/l/_tFMiv9Mk9L77


 is

A. )-2, 1)

B. (-2, -2)

C. (2, -1)

D. (2, 1)

Answer: B

Watch Video Solution

x2 + y2 + 2y − 3 = 0

74. about to only mathematics

A. 16

B. 24

C. 32

D. none of these

Answer: C

https://dl.doubtnut.com/l/_tFMiv9Mk9L77
https://dl.doubtnut.com/l/_flWvFw9DiSib


Watch Video Solution

75. The points of contact of tangents to the circle  which

are inclined at an angle of  to the x-axis are

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + y2 = 25

30∘

( ± 5/2, ± 1/2)

( ± 1/2, ± 5/2)

( ± 5/2, ± 1/2)

76. If  are concyclic points then the value of 

 is

A. 1

(mi, ), i = 1, 2, 3, 4
1

mi

m1m2m3m4

https://dl.doubtnut.com/l/_flWvFw9DiSib
https://dl.doubtnut.com/l/_ZNtIqfqDyv66
https://dl.doubtnut.com/l/_qcAdGN4bHgok


B. -1

C. 0

D. none of these

Answer: A

Watch Video Solution

77. Find the area of the triangle formed by the tangents from the point

(4,
 3) to the circle 
 and the line joining their points of

contact.

A. 

B. 

C. 

D. none of these

Answer: B

x2 + y2 = 9

25

192

192

25

384
25

https://dl.doubtnut.com/l/_qcAdGN4bHgok
https://dl.doubtnut.com/l/_1VeSpHeEPbi9


Watch Video Solution

78. The tangent at , any point on the circle  , meets the

coordinate axes in and , then (a) Length of  is constant (b) and

 are always equal (c) The locus of the midpoint of  is 

 (d) None of these

A. length of AB is constant

B. PA and PB are always equal

C. the locus of the mid-point of AB is 

D. none of these

Answer: C

Watch Video Solution

P x2 + y2 = 4

A B AB PA

PB AB

x2 + y2 = x2y2

x2 + y2 = x2y2

79. The equation of the circle which touches the axes of coordinates and

the line 
 and whose center lies in the first quadrant is + = 1
x

3

y

4

https://dl.doubtnut.com/l/_1VeSpHeEPbi9
https://dl.doubtnut.com/l/_7FVCl5EDfsFK
https://dl.doubtnut.com/l/_m1BtmukZsxxo



, where 
is
(a) 1 (b)
2 (c) 3 (d) 6

A. 1, 6

B. 2, 1

C. 3, 6

D. 6, 4

Answer: A

Watch Video Solution

x2 + y2 − 2cx − 2cy + c2 = 0 c

80. If the chord of contact of the tangents from a point on the circle

 to the circle  touch the circle ,

then the roots of the equation  are necessarily. (A)

imaginary (B) real and equal (C) real and unequal (D) rational

A. imaginary

B. real and equal

C. real and unequal

x2 + y2 = a2 x2 + y2 = b2 x2 + y2 = c2

ax2 + 2bx + c = 0

https://dl.doubtnut.com/l/_m1BtmukZsxxo
https://dl.doubtnut.com/l/_YuSgSLuR8lOg


D. rational

Answer: B

Watch Video Solution

81. If from the origin a chord is drawn to the circle ,

then the locus of the mid point of the chord has equation

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 2x = 0

x2 + y2 + x + y = 0

x2 + y2 + 2x + y = 0

x2 + y2 − x = 0

x2 + y2 − 2x + y = 0

https://dl.doubtnut.com/l/_YuSgSLuR8lOg
https://dl.doubtnut.com/l/_P1kCyVApWf8l


82. The locus represented by  is

A. an ellipse

B. a circle

C. a pair of lines

D. none of these

Answer: D

Watch Video Solution

x = (t + ), y = (t − )
a

2

1

t

a

2

1

t

83. about to only mathematics

A. (-9/5, 12/5), (9/5, -12/5)

B. (-9/5, -12/5), (9/5, 12/5)

C. (12/5, -9/5), (-12/5, 9/5)

D. none of these

https://dl.doubtnut.com/l/_uQP1jJuk7Evz
https://dl.doubtnut.com/l/_7GXLyXIpqPe9


Answer: A

Watch Video Solution

84. Find the locus of the midpoint of the chord of the circle


, which makes an angle of 
at the center.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − 2x − 2y = 0 1200

x2 + y2 − 2x − 2y + 1 = 0

x2 + y2 + x + y − 1 = 0

x2 + y2 − 2x − 2y − 1 = 0

85. The two circles  and 

 are such that

x2 + y2 − 2x − 3 = 0

x2 + y2 − 4x − 6y − 8 = 0

https://dl.doubtnut.com/l/_7GXLyXIpqPe9
https://dl.doubtnut.com/l/_gR1AzE5onGmX
https://dl.doubtnut.com/l/_U5A2ED8O3vd5


A. they touch each other

B. they intersect each other

C. one lies inside the other

D. each lies outside the other

Answer: B

Watch Video Solution

86. The equation of the circle having its centre on the line


 and passing through the points of intersection of the

circles 
is

A. 

B. 

C. 

D. 

x + 2y − 3 = 0

x2 + y2 − 2x − 4y + 1 = 0andx2 + y2 − 4x − 2y + 4 = 0

x2 + y2 − 6x + 7 = 0

x2 + y2 − 3x + 4 = 0

x2 + y2 − 2x − 2y + 1 = 0

x2 + y2 + 2x − 4y + 4 = 0

https://dl.doubtnut.com/l/_U5A2ED8O3vd5
https://dl.doubtnut.com/l/_sMkOXKLNTf2a


Answer: A

Watch Video Solution

87. The equation of the circumcircle of the triangle formed by the lines

 and , is-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y + √3x = 6, y − √3x = 6 y = 0

x2 + y2 − 4y = 0

x2 + y2 + 4x = 0

x2 + y2 − 4y − 12 = 0

x2 + y2 + 4x = 12

88. The equation  representsx2 + y2 + 4x + 6y + 13 = 0

https://dl.doubtnut.com/l/_sMkOXKLNTf2a
https://dl.doubtnut.com/l/_7m8skidkiumi
https://dl.doubtnut.com/l/_Rgt4wrnpgUYm


A. a circle

B. a pair of two straight lines

C. a pair of coincident straight lines

D. a point

Answer: D

Watch Video Solution

89. To which of the circles, the line  is normal at the point 

 is

A. 

B. 

C. 

D. 

Answer: A

y − x + 3 = 0

(3 + 3√2, 3√2)

(x − 3 − )

2

+ (y − )

2

= 9
3

√2

3

√2

(x − )

2

+ (y − )

2

= 9
3

√2

3

√2

x2 + (y − 3)2 = 9

(x − 3)2 + y2 = 9

https://dl.doubtnut.com/l/_Rgt4wrnpgUYm
https://dl.doubtnut.com/l/_S6tWN8NBqaej


Watch Video Solution

90. Circles are drawn through the point (2, 0) to cut intercept of length 5

units on the x-axis. If their centers lie in the first quadrant, then find
their

equation.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 9x + 2ky + 14 = 0

3x2 + 3y2 + 27x − 2ky + 42 = 0

x2 + y2 − 9x − 2ky + 14 = 0

x2 + y2 − 2kx − 9y + 14 = 0

91. Find the equation of the circle which touches both the axes and the

straight line 
in the first quadrant and lies below it.4x + 3y = 6

https://dl.doubtnut.com/l/_S6tWN8NBqaej
https://dl.doubtnut.com/l/_w6Q9rf5MNCAt
https://dl.doubtnut.com/l/_fIvkwHHyR4Sb


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x2 + 4y2 − 4x − 4y + 1 = 0

x2 + y2 − 6x − 6y + 9 = 0

x2 + y2 − 6x − y + 9 = 0

4(x2 + y2 − x − 6y) + 1 = 0

92. The slope of the tangent at the point ( h,h ) of the cirlce 

is 

A. 0

B. 1

C. -1

D. depends on h

Answer: C

x2 + y2 = a2

:

https://dl.doubtnut.com/l/_fIvkwHHyR4Sb
https://dl.doubtnut.com/l/_uydz9P5YRZur


Watch Video Solution

93. The circles  intersect each

other in two distinct points if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 10x + 6 = 0 and x2 + y2 = r2

r < 2

r > 8

2 < r < 8

2 ≤ r ≤ 8

94. The locus of the center of the circle which touches the circle

 externally and also touches the y-axis is

given by equation

x2 + y2 − 6x − 6y + 14 = 0

https://dl.doubtnut.com/l/_uydz9P5YRZur
https://dl.doubtnut.com/l/_klq3ZNpzaQqc
https://dl.doubtnut.com/l/_rFa7NK4d7AVe


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 6x − 10y + 14 = 0

x2 − 10x − 6y + 14 = 0

y2 − 6x − 10y + 14 = 0

y2 − 10x − 6y + 14 = 0

95. If a circle passes through the point  and cuts the circlex 

 equation of the locus of its centre is

A. 

B. 

C. 

D. 

Answer: A

(a, b)

x2 + y2 = p2

2ax + 2by − (a2 + b2 + p2) = 0

2ax + 2by − (a2 − b2 + p2) = 0

x2 + y2 − 3ax − 4by + (a2 + b2 − p2) = 0

x2 + y2 − 2ax − 3by + (a2 − b2 − p2) = 0

https://dl.doubtnut.com/l/_rFa7NK4d7AVe
https://dl.doubtnut.com/l/_Enkc6jgSrf2n


Watch Video Solution

96. The locus of the midpoint of a chord of the circle 
which

subtends a right angle at the origins is
 (a) 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 4

x + y = 2 x2 + y2 = 1

x2 + y2 = 2 x + y = 1

x + y = 2

x2 + y2 = 1

x2 + y2 = 2

x + y = 1

97. Two circle 
and 
are given. Then the

equation of the circle through their points of
 intersection and the point

x2 + y2 = 6 x2 + y2 − 6x + 8 = 0

https://dl.doubtnut.com/l/_Enkc6jgSrf2n
https://dl.doubtnut.com/l/_Y2mjyk6QSumQ
https://dl.doubtnut.com/l/_dUXP6h1H9VxN


(1, 1) is
 



none of these

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 − 6x + 4 = 0 x2 + y2 − 3x + 1 = 0

x2 + y2 − 4y + 2 = 0

x2 + y2 − 6x + 4 = 0

x2 + y2 − 3x + 1 = 0

x2 + y2 − 4y + 2 = 0

98. The equation of the circle described on the common chord of the

circles  as diameter is

A. 

B. 

C. 

x2 + y2 + 2x = 0 and x2 + y2 + 2y = 0

x2 + y2 + x − y = 0

x2 + y2 − x − y = 0

x2 + y2 − x + y = 0

https://dl.doubtnut.com/l/_dUXP6h1H9VxN
https://dl.doubtnut.com/l/_7kAItXAeL96c


D. 

Answer: D

Watch Video Solution

x2 + y2 + x + y = 0

99. Origin is a limiting point of a coaxial system of which

 is a member. The other limiting point, is

A. (-2, -4)

B. (3/25, 4/25)

C. (-3/25, -4/25)

D. (4/25, 3/25)

Answer: B

Watch Video Solution

x2 + y2 − 6x − 8y + 1 = 0

https://dl.doubtnut.com/l/_7kAItXAeL96c
https://dl.doubtnut.com/l/_NbVJXB4gvP4H


100. A circle passes through the origin and has its center on 
 If it

cuts 
orthogonally, then find the equation

of the circle.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = x

x2 + y2 − 4x − 6y + 10 = −

x2 + y2 − x − y = 0

x2 + y2 − 6x − 4y = 0

x2 + y2 − 2x − 2y = 0

x2 + y2 + 2x + 2y = 0

101. The number of common tangents to the circles

 are

A. 2

B. 1

x2 + y2 − x = 0 and x2 + y2 + x = 0

https://dl.doubtnut.com/l/_WxRrgQTZYfUP
https://dl.doubtnut.com/l/_1nZg3KHcLe9F


C. 4

D. 3

Answer: D

Watch Video Solution

102. Consider the circles 
 They

are such that
 these circles touch each other
 one of these circles lies

entirely inside the other
each of these circles lies outside the other
they

intersect at two points.

A. these circles touch each other

B. one of these circles lies entirely inside the other

C. each of these circles lies outside the other

D. they intersect in two point

Answer: B

h id l i

x2 + (y − 1)2 = 9, (x − 1)2 + y2 = 25.

https://dl.doubtnut.com/l/_1nZg3KHcLe9F
https://dl.doubtnut.com/l/_Qg1XYXigYYj5


Watch Video Solution

103. A circle touches the x-axis and also touches the circle with center

(0,3) and radius 2 externally. The locus of the center of the circle is

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

104. The circles  and 

A. touch externally

x2 + y2 − 4x − 6y − 12 = 0

x2 + y2 + 4x + 6y + 4 = 0

https://dl.doubtnut.com/l/_Qg1XYXigYYj5
https://dl.doubtnut.com/l/_dLGztSiWmPoR
https://dl.doubtnut.com/l/_bVlIa3r2ue3k


B. touch internally

C. intersect in two points

D. do not intersect

Answer: C

Watch Video Solution

105. Write the equation of the unit circle concentric with

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 8x + 4y − 8 = 0.

x2 + y2 − 8x + 4y − 8 = 0

x2 + y2 − 8x + 4y + 8 = 0

x2 + y2 − 8x + 4y − 28 = 0

x2 + y2 − 8x + 4y + 19 = 0

https://dl.doubtnut.com/l/_bVlIa3r2ue3k
https://dl.doubtnut.com/l/_T8Y4oN7cHfoJ


106. The point  being any real number, die inside the circle 

 if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(sin θ, cos θ). θ

x2 + y2 − 2x − 2y + λ = 0

λ < 1 + 2√2

λ > 2√2 − 1

λ < − 1 − 2√2

λ > 1 + 2√2

107. The range of values of  for which  is on

interior point of the circle , is

A. 

B. 

θ ∈ [0, 2π] (1 + cos θ, sin θ)

x2 + y2 = 1

(π/6, 5π/6)

(2pu/3, 5π/3)

https://dl.doubtnut.com/l/_T8Y4oN7cHfoJ
https://dl.doubtnut.com/l/_X5HnTN47AgEm
https://dl.doubtnut.com/l/_oWAYUij8Le8a


C. 

D. 

Answer: D

Watch Video Solution

(π/6, 7π/6)

(2π/3, 4π/3)

108. The range of values of a for which the point (a, 4) is outside the

circles  and , is

A. 

B. (-8, -2)

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + y2 + 10x = 0 x2 + y2 − 12x + 20 = 0

( − ∞, − 8) ∪ ( − 2, 6) ∪ (6, ∞)

( − ∞, − 2) ∪ ( − 2, ∞)

https://dl.doubtnut.com/l/_oWAYUij8Le8a
https://dl.doubtnut.com/l/_INAxqMcUpwiZ
https://dl.doubtnut.com/l/_bEEs1a5pkMeY


109. about to only mathematics

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

3 ≤ α ≤ 4 and − 4 ≤ β ≤ 3

−4 ≤ α ≤ 3 and 3 ≤ β ≤ 4

α3 and − 4 ≤ β ≤ 4

110. If the point 
 lies inside the region bounded by the curve 


and 
then 
belongs to the interval
 
 (b) 


(c) 
(d) none of these

A. (-4, 3)

B. 

C. (-1, 3)

(λ, λ + 1)

x = √25 + y2 y − aξs, λ ( − 1, 3)

( − 4, 3) ( − ∞, − 4) ∪ (3, ∞)

( − ∞, − 1) ∪ (3, ∞)

https://dl.doubtnut.com/l/_bEEs1a5pkMeY
https://dl.doubtnut.com/l/_J44gqOSMcLL6


D. none of these

Answer: C

Watch Video Solution

111. about to only mathematics

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

λ ∈ ( − ∞, 5√2)

λ ∈ (4√2 − √14, 5√2)

λ ∈ (4√2 − √14, 4√2 + √14)

https://dl.doubtnut.com/l/_J44gqOSMcLL6
https://dl.doubtnut.com/l/_yqtxqWSPaLGa


112. The abscissa of the two points A and B are the roots of the equation


 and their ordinates are the roots of the equation 


Find the equation of the circle with AB as diameter.

Also, find its
radius.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + 2ax − b2 = 0

x2 + 2px − q2 = 0.

√a2 + p2

√b2 + q2

√a2 + b2

√a2 + b2 + p2 + q2

113. The Cartesian equation of the plane 

 is

A. 

→
r = (1 + λ − μ) î + (2 − λ) ĵ + (3 − 2λ + 2μ)k̂

λ(m2 + m3) + μ(m3 + m1) + v(m1 + m2) = 0

https://dl.doubtnut.com/l/_z0FwjKONMHvB
https://dl.doubtnut.com/l/_khlRwnI7Mr3B


B. 

C. both (a) and (b) hold together

D. none of these

Answer: C

Watch Video Solution

λ(m2m3 − 1) + μ(m3m1 − 1) + v(m1m2 − 1) = 0

114. if  is a chord of a circle of radius  and the diameter of the

circle lies along -axis and one end of this chord in origin .The equation

of the circle described on this chord as diameter is

A. Option1. 

B. Option2. 

C. Option3. 

D. Option4. none of these

Answer: A

y = mx a

x

(1 + m2)(x2 + y2) − 2a(x + my) = 0

(1 − m2)(x2 + y2) − 2a(x + my) = 0

(1 + m2)(x2 + y2) + 2a(x + my) = 0

https://dl.doubtnut.com/l/_khlRwnI7Mr3B
https://dl.doubtnut.com/l/_Pnpis7X62YyJ


Watch Video Solution

115. 18. The straight lines joining the origin to the points of intersection

of the line  with the curve 

A. are coincident

B. are perpendicular

C. make equal angles with x-axis

D. none of these

Answer: B

Watch Video Solution

4x + 3y = 24 (x − 3)2 + (y − 4)2 = 25:

116. The locus of the point of intersection of the tangents to the circle

 at the points, whose parametric angles differ by 

 is

x = a cos θ, y = a sin θ

π

3

https://dl.doubtnut.com/l/_Pnpis7X62YyJ
https://dl.doubtnut.com/l/_x2pwGPrFuNn2
https://dl.doubtnut.com/l/_Vqg8mMaZfx8r


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2y2 = r2

2

x2 + y2 = 2r2

x2 + y2 = 4r2

117. If the chrod of contact of tangents from a point  to the circle 

 touches the circle  then the locus of 

 is

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

(x1, y1)

x2 + y2 = a2 (x − a)2 + y2 = a2

(x1, y1)

https://dl.doubtnut.com/l/_Vqg8mMaZfx8r
https://dl.doubtnut.com/l/_O6CrDTSA7zHz


Answer: B

Watch Video Solution

118. The circle  with centre  and radius  touches externally

the circle  with centre  and radius . If the tangent at their

common point passes through the origin then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

S1 C1(a1, b1) r1

S2 C2(a2, b2) r2

:

(a2
1 + a2

2) + (b2
1 + b2

2) = r2
1 + r2

2

(a2
1 − a2

2) + (b2
1 − b2

2) = r2
1 − r2

2

(a2
1 − b2

1) + (a2
2 + b2

2) = r2
1 + r2

2

(a2
1 − b2

1) + (a2
2 + b2

2) = r2
1 + r2

2

https://dl.doubtnut.com/l/_O6CrDTSA7zHz
https://dl.doubtnut.com/l/_M0wXGy5bjeIW


119. Two vertices of an equilateral triangle are 
and (1, 0), and its

third vertex lies above the x-axis. The equation of
 its circumcircel is

____________

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

( − 1, 0)

x2 + y2 − y − 1 = 0
1

√3

x2 + y2 + y − 1 = 0
2

√3

x2 + y2 − y − 1 = 0
2

√3

120. If the sum of the coefficient in the expansion of 

vanishes, then find the value of 

A. outside

B. inside

(α2x2 − 2αx + 1)
51

α

https://dl.doubtnut.com/l/_vnGDMfVos7CV
https://dl.doubtnut.com/l/_FGuXjmjQ1Gu5


C. on side

D. cannot be decided

Answer: A

Watch Video Solution

121. Tangents , are drawn from a point P to the circle 

. If the point P lies on the line , then the

locus of the centre of circumcircle of the triangle  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

PT1, and PT2

x2 + y2 = a2 Px + qy + r = 0

PT1T2

px + qy = r/2

2px + 2py + r = 0

px + qy = r

(x − p)2 + (y − q)2 = r2

https://dl.doubtnut.com/l/_FGuXjmjQ1Gu5
https://dl.doubtnut.com/l/_7B1cvvwPcwL8


122. The value of  in  so that circle 

 always lies inside the

square of unit side length, is/are

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

θ [0, 2π]

x2 + y2 + 2(sinα)x + 2(cosα)y + sin2 θ = 0

(π/3, 2π/3)

[4π/3, 5π/3]

(π/4, 2π/3)

123. The value of  in  so that 

 having intercept on x-axis always

greater than 2, is/are

A. 

α [0, 2π]

x2 + y2 + 2√sinαx + (cosα − 1) = 0

(π/4, 3π/2)

https://dl.doubtnut.com/l/_7B1cvvwPcwL8
https://dl.doubtnut.com/l/_5VAuQ3EcRgaZ
https://dl.doubtnut.com/l/_z1rVYFwPLs7I


B. 

C. 

D. 

Answer: B

Watch Video Solution

(π/4, (3π) /4

(π/4, 5π/4)

[0, π]

124. If in a  (whose circumcentre is at the origin),  , then

for any point  insidethe circumcircle of , we have

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ΔABC a ≤ sinA

(x, y) ΔABC

|xy| < 1/8

|xy| > 1/8

1/8 < xy < 1/2

https://dl.doubtnut.com/l/_z1rVYFwPLs7I
https://dl.doubtnut.com/l/_TUDTD1r8HiUk


125. If P is a point such that the ratio of the squares of the lengths of the

tangents from P to the circles  and 

 is 2:3, then the locus of P is a circle with

centre

A. (7, -8)

B. (-7, 8)

C. (7, 8)

D. (-7, -8)

Answer: B

Watch Video Solution

x2 + y2 + 2x − 2y − 20 = 0

x2 + y2 − 4x + 2y − 44 = 0

126. If  is a sequence of circles such that  is the

director circle of . If the radius of  is 'a', then the area bounded by

the circles  and , is

C1, C2, C3, ... Cn+ 1

Cn C1

Cn Cn+ 1

https://dl.doubtnut.com/l/_TUDTD1r8HiUk
https://dl.doubtnut.com/l/_atukfdipYkZf
https://dl.doubtnut.com/l/_DN8me4q7Zv8n


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

2nπa2

22n−nπa2

2n− 1πa2

127. If 
 are the radii of the smallest and the largest circles,

respectively,
 which pass though (5, 6) and touch the circle


then 
is
(a) 
(b) 
 
(d) 

A. 

B. 

C. 

D. 

r1andr2

(x − 2)2 + y2 = 4, r1r2
4
41

41
4

5

41
41
6

4
41

41
4

5

41

41
6

https://dl.doubtnut.com/l/_DN8me4q7Zv8n
https://dl.doubtnut.com/l/_26EKeb34audz


Answer: B

Watch Video Solution

128. The radical centre of three circles described on the three sides

 and  of a triangle as

diameter, is

A. (4, 4)

B. (3, 3)

C. (3, 4)

D. (4,1)

Answer: B

Watch Video Solution

x + y = 5, 2x + y − 9 = 0 x − 2y + 3 = 0

https://dl.doubtnut.com/l/_26EKeb34audz
https://dl.doubtnut.com/l/_9BSPlcw3HxeG


129. If 
is the angle between the two radii (one to each circle) drawn from

one
 of the point of intersection of two circles 
 and 


then prove that the length of the common chord of

the two circles is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ

x2 + y2 = a2

(x − c)2 + y2 = b2,

2ab sin θ

√a2 + b2 − 2ab cos θ

ab

√a2 + b2 − 2ab cos θ

2ab

√a2 + b2 − 2ab cos θ

2ab sin θ

√a2 + b2 − 2ab cos θ

2ab cos θ

√a2 + b2 − 2ab cos θ

130. The number of rational point(s) [a point (a, b) is called rational, if


both are rational numbers] on the circumference of a circle having

center 
is
at most one
(b) at least two
exactly two
(d) infinite

aandb

(π, e)

https://dl.doubtnut.com/l/_QPX2ndtkyMLN
https://dl.doubtnut.com/l/_f8J9fAZFbloV


A. an most one

B. at least two

C. exactly two

D. infinite

Answer: A

Watch Video Solution

131. The point  (where [.] denotes the greatest integer

function), lying inside the region bounded by the circle

 then :

A. 

B. 

C. 

D. none of these

(
P + 1

P
)

x2 + y2 − 2x − 15 = 0 and x2 + y2 − 2x − 7 = 0,

a ∈ [ − 1, 0] ∪ (0, 1) ∪ [1, 2]

a ∈ [ − 1, 2] − {0, 1}

a ∈ ( − 1, 2)

https://dl.doubtnut.com/l/_f8J9fAZFbloV
https://dl.doubtnut.com/l/_04G8wWGvyYyt


Chapter Test

Answer: D

Watch Video Solution

132. The circles

 cut orthogonally, if

A. an ellipse

B. the radical axis of the given circles

C. a conic

D. another circle

Answer: B

Watch Video Solution

ax2 + ay2 + 2g1x + 2f1y + c1 = 0  and bx2 + by2 + 2g2x + 2f2y + c2 =

(a ≠ 0 and b ≠ 0)

https://dl.doubtnut.com/l/_04G8wWGvyYyt
https://dl.doubtnut.com/l/_1oe0x7HYmZP3
https://dl.doubtnut.com/l/_7oG2RtVnXBt5


1. The two circles

 touch

eachother. The equation of their common tangent is : (A)  (B) 

(C)  (D) 

A. x=3

B. y=6

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2x + 6y + 6 = 0 and x2 + y2 − 5x + 6y + 15 = 0

x = 3 y = 6

7x − 12y − 21 = 0 7x + 12y + 21 = 0

7x − 12y − 12 = 0

7x + 12y + 21 = 0

2. The two circles  and 

A. touch externally

x2 + y2 − 2x − 2y − 7 = 0

3(x2 + y2) − 8x + 29y = 0

https://dl.doubtnut.com/l/_7oG2RtVnXBt5
https://dl.doubtnut.com/l/_zldHdNnsnJmM


B. touch internally

C. cut each other orthogonally

D. do not cut each other

Answer: C

Watch Video Solution

3. The centre of a circle passing through (0,0), (1,0) and touching the

CircIe  is
 a. 
 b. 
 c. 
 d. 

.

A. (3/2, 1/2)

B. (1/2, 3/2)

C. (1/2, 1/2)

D. 

Answer: D

x2 + y2 = 9 ( , √2)
1

2
( , )

1

2

3

√2
( , )

3

2

1

√2

( , − )
1

2

1

√2

(1/2, ± √2)

https://dl.doubtnut.com/l/_zldHdNnsnJmM
https://dl.doubtnut.com/l/_O1syeSE8fWJr


Watch Video Solution

4. The circle  cuts the circle  in 

and , Then the equation of the circle on  as diameter is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 4 x2 + y2 + 2x + 3y − 5 = 0 A

B AB

13(x2 + y2) − 4x − 6y − 50 = 0

9(x2 + y2) + 8x − 4y + 25 = 0

x2 + y2 − 5x + 2y + 72 = 0

5. One of the limit point of the coaxial system of circles containing

, is

A. (-1, 1)

x2 + y2 − 6x − 6y + 4 = 0, x2 + y2 − 2x − 4y + 3 = 0

https://dl.doubtnut.com/l/_O1syeSE8fWJr
https://dl.doubtnut.com/l/_7MpqKSAHs0v7
https://dl.doubtnut.com/l/_bENeKtpAnq7G


B. (-1, 2)

C. (-2, 1)

D. (-2, 2)

Answer: A

Watch Video Solution

6. A circle touches y-axis at (0, 2) and has an intercept of 4 units on the

positive side of x-axis. The equation of the circle, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − 4(√2x + y) + 4 = 0

x2 + y2 − 4(x + √2y) + 4 = 0

x2 + y2 − 2(√2x + y) + 4 = 0

https://dl.doubtnut.com/l/_bENeKtpAnq7G
https://dl.doubtnut.com/l/_XSFATjMawzRz


7. The equation of the circle whose one diameter is PQ, where the

ordinates of P, Q are the roots of the equation  and the

abscissae are the roots of the equation  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + 2x − 3 = 0

y2 + 4y − 12 = 0

x2 + y2 + 2x + 4y − 15 = 0

x2 + y2 − 4x − 2y − 15 = 0

x2 + y2 + 4x + 2y − 15 = 0

8. The circle  cuts an intercept on Y-axis is of

length

A. 1

x2 + y2 + 4x − 7y + 12 = 0

https://dl.doubtnut.com/l/_XSFATjMawzRz
https://dl.doubtnut.com/l/_kMpXY3HQ4app
https://dl.doubtnut.com/l/_gmHc6VcjbuDW


B. 2

C. 

D. none of these

Answer: A

Watch Video Solution

1

2

9. Prove that the equation of any tangent to the circle


 is of the form 

A. 

B. 

C. 

D. none of these

Answer: A

x2 + y2 − 2x + 4y − 4 = 0

y = m(x − 1) + 3√1 + m2 − 2.

y = m(x − 1)2 + 3√1 + m2 − 2

y = mx + 3√a + m2

y = mx + 3√1 + m2 − 2

https://dl.doubtnut.com/l/_gmHc6VcjbuDW
https://dl.doubtnut.com/l/_YHuuAvtRGlEw


Watch Video Solution

10. The angle between the pair of tangents from the point  to the

circle  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(1, )
1

2

x2 + y2 + 4x + 2y − 4 = 0

cos − 1.
4
5

sin− 1.
4
5

sin− 1.
3

5

11. The intercept on the line y=x by the circle  is AB.

Equation of the circle on AB as a diameter is

A. 

x2 + y2 − 2x = 0

x2 + y2 + x + y = 0

https://dl.doubtnut.com/l/_YHuuAvtRGlEw
https://dl.doubtnut.com/l/_JWfeP8wpy1C8
https://dl.doubtnut.com/l/_pTmjekPA9xqN


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = x + y

x2 + y2 − 3x + y = 0

12. If 
 is a tangent to a circle whose center is 
 , then

find the equation of the other tangent to the circle from the
origin.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x + y = 0 (2, − 1)

x − 3y = 0

x + 3y = 0

3x − y = 0

2x + y = 0

https://dl.doubtnut.com/l/_pTmjekPA9xqN
https://dl.doubtnut.com/l/_wxk1T18la8Nm


13. The locus of the midpoint of a chord of the circle 
 which

subtends a right angle at the origins is
 (a) 
 (b) 


(d) 

A. a straight line

B. a circle of radius 2

C. a circle of radius 

D. an ellipse

Answer: C

Watch Video Solution

x2 + y2 = 4

x + y = 2 x2 + y2 = 1

x2 + y2 = 2 x + y = 1

2√3

14. Two tangents to the circle  at the points A and B meet at 

.The area of the quadrilateral PAOB where O is the origin is 

A. 4

x2 + y2 = 4

P ( − 4, 0) :

https://dl.doubtnut.com/l/_wxk1T18la8Nm
https://dl.doubtnut.com/l/_3GLQtG0tBAvf
https://dl.doubtnut.com/l/_F9r2FNeyYsI4


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

6√2

4√3

15. A tangent is drawn to the circle  and it

touches the circle at point A. If the tangent passes through the point P(2,

1),then PA=

A. 4

B. 2

C. 

D. none of these

Answer: B

2(x2 + y2) − 3x + 4y = 0

2√2

https://dl.doubtnut.com/l/_F9r2FNeyYsI4
https://dl.doubtnut.com/l/_9gsE0Mo55P2P


Watch Video Solution

16. the length of the chord of the circle  passing through (5,

0) and perpendicular to the line , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 25

x + y = 0

5√2

5√2

2√5

17. If the points A(2, 5) and B are symmetrical about the tangent to the

circle  at the origin, then the coordinates of B, are

A. (5, -2)

x2 + y2 − 4x + 4y = 0

https://dl.doubtnut.com/l/_9gsE0Mo55P2P
https://dl.doubtnut.com/l/_FGkzNBtI3F20
https://dl.doubtnut.com/l/_FSLc18bDha91


B. (1, 5)

C. (5, 2)

D. none of these

Answer: C

Watch Video Solution

18. The equation of the circle of radius  whose centre lies on the line

 and which touches the line , and what centre's

coordination satisfy the inequality  is 

A. 

B. 

C. 

D. none of these

Answer: A

2√2

x − y = 0 x + y = 4

x + y > 4 :

x2 + y2 − 8x − 8y + 24 = 0

x2 + y2 = 8

x2 + y2 − 8x + 8y − 24 = 0

https://dl.doubtnut.com/l/_FSLc18bDha91
https://dl.doubtnut.com/l/_MnQfPjyFhKr2


Watch Video Solution

19. Prove that the maximum number of points with rational coordinates

on a
circle whose center is 
is two.

A. one

B. two

C. four

D. infinite

Answer: B

Watch Video Solution

(√3, 0)

20. The equation of a circle C is . The

number of real points at which the circle drawn with points (1, 8) and (0,0)

as the ends of a diameter cuts the circle, C, is

x2 + y2 − 6x − 8y − 11 = 0

https://dl.doubtnut.com/l/_MnQfPjyFhKr2
https://dl.doubtnut.com/l/_MuMBm2Ezs7AM
https://dl.doubtnut.com/l/_OfKKOAJzMrXA


A. 0

B. 1

C. 2

D. none of these

Answer: C

Watch Video Solution

21. Two circles, each of radius 5, have a common tangent at (1, 1) whose

equation is . Then their centres, are

A. (4, -5), (-2, 3)

B. (4, -3), (-2, 5)

C. (4, 5), (-2, -3)

D. none of these

Answer: C

3x + 4y − 7 = 0

https://dl.doubtnut.com/l/_OfKKOAJzMrXA
https://dl.doubtnut.com/l/_ckg6rd5Ji5ER


Watch Video Solution

22. The number of points on the circle  which are at a

distance 2 from the point (-2, 1), is

A. 2

B. 0

C. 1

D. none of these

Answer: B

Watch Video Solution

2(x2 + y2) = 3x

23. A ray of light incident at the point ( -2,-1) gets reflected from the

tangent at ( 0,-1) to the circle  . The reflected ray touches the

circle.The equation of the line along which the incident ray moves is 

x2 + y2 = 1

:

https://dl.doubtnut.com/l/_ckg6rd5Ji5ER
https://dl.doubtnut.com/l/_vVjHgyIdR2wq
https://dl.doubtnut.com/l/_6P7ifOL2btJR


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

4x − 3y + 11 = 0

4x + 3y + 11 = 0

3x + 4y + 11 = 0

24. The point on the straight line  which is nearest to the

circle  is

A. (9/2, 2)

B. (-9/2, 2)

C. (9/2, -2)

D. none of these

Answer: B

y = 2x + 11

16(x2 + y2) + 32x − 8y − 50 = 0

https://dl.doubtnut.com/l/_6P7ifOL2btJR
https://dl.doubtnut.com/l/_LGneCyfMdezf


Watch Video Solution

25. Extremities of a diagonal of a rectangle are (0, 0) and (4, 3). The

equations of the tangents to the circumcircle of the rectangle which are

parallel to the diagonal, are

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

16x + 8y ± 25 = 0

6x − 8y ± 25 = 0

8 + 6y ± 25 = 0

26. The equation of the circle which has a tangent  at 

 on it and with centre on  is 

2x − y − 1 = 0

P (3, 5) x + y − 5 = 0 :

https://dl.doubtnut.com/l/_LGneCyfMdezf
https://dl.doubtnut.com/l/_gCMgLscdKqSQ
https://dl.doubtnut.com/l/_DxYKSRbvO4CV


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 6x − 16y + 28 = 0

x2 + y2 − 6x + 16y − 28 = 0

x2 + y2 + 6x + 6y − 28 = 0

x2 + y2 − 6x − 6y − 28 = 0

27. The angle of intersection of the circles  and 

, is

A. 

B. 

C. 

D. 

Answer: D

x2 + y2 = 4

x2 + y2 + 2x + 2y

π/2

π/3

π/6

π/4

https://dl.doubtnut.com/l/_DxYKSRbvO4CV
https://dl.doubtnut.com/l/_e85hDKvoXp9S


Watch Video Solution

28. The normal at the point (3,4) on a circle cuts the circle at the poins

. Then the equation of the circle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 1, − 2)

x2 + y2 + 2x − 2y − 13 = 0

x2 + y2 − 2x − 2y − 11 = 0

x2 + y2 − 2x + 2y + 12 = 0

x2 + y2 − 2x − 2y + 14 = 0

29. The inverse point of (1, -1) with respect to , is

A. (-1, 1)

B. (-2, 2)

x2 + y2 = 4

https://dl.doubtnut.com/l/_e85hDKvoXp9S
https://dl.doubtnut.com/l/_uuN8sefIE3XP
https://dl.doubtnut.com/l/_MyfPiIB9eT2a


C. (1, -1)

D. (2, -2)

Answer: D

Watch Video Solution

30. A variable circle passes through the point A(a,b) and touches the x-

axis. Show that the locus of the other end of the diameter through A is

.

A. a parabola

B. a circle

C. an ellipse

D. a hyperbola

Watch Video Solution

(x − a)2 = 4by

https://dl.doubtnut.com/l/_MyfPiIB9eT2a
https://dl.doubtnut.com/l/_fXOVKRftnglm
https://dl.doubtnut.com/l/_jrkOV1WybYed


31. The radius of the circle , is

A. 9

B. 5

C. 3

D. 2

Answer: C

Watch Video Solution

r2 − 2√2r(cos θ + sin θ) − 5 = 0

32. A straight rot of length 9 units slides with its ends A,B always on the X

and Y axis respectively . Then , the locus of the centroid of  is

A. 

B. 

C. 

D. 

ΔOAB

x2 + y2 = 3

x2 + y2 = 9

x2 + y2 = 1

x2 + y2 = 81

https://dl.doubtnut.com/l/_jrkOV1WybYed
https://dl.doubtnut.com/l/_SdwgB7rzxTcn


Answer: B

Watch Video Solution

33. Find in-radius of the triangle formd by the axes and the line

A. 5

B. 6

C. 7

D. 8

Answer: B

Watch Video Solution

4x + 3y − 12 = 0.

34. A line is at a distance 'c' from origin and meets axes in A and B. The

locus of the centre of the circle passing through O,A,B is

https://dl.doubtnut.com/l/_SdwgB7rzxTcn
https://dl.doubtnut.com/l/_hEs5jbBmr3nf
https://dl.doubtnut.com/l/_NrM6EJ9W1rWS


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x− 2 + y− 2 = 3

x− 2 + y− 2 = 2c− 2

x− 2 + y− 2 = 3c− 2

x− 2 + y− 2 = 4c− 2

35. The number of circles that touch all the straight lines

 and , is

A. 1

B. 2

C. 3

D. 4

Answer: D

x + y − 4 = 0, x − y + 2 = 0 y = 2

https://dl.doubtnut.com/l/_NrM6EJ9W1rWS
https://dl.doubtnut.com/l/_KOduQj7BHkHH


Watch Video Solution

36. Find the number of integral values of 
 for which


 is the equation of a circle whose

radius does not exceed 5.

A. 14

B. 18

C. 16

D. none of these

Answer: C

Watch Video Solution

λ

x2 + y2 + λx + (1 − λ)y + 5 = 0

37. The four points of intersection of the lines (2x-y+1)(x-2y+3)=0 with the

axes lie on a circle whose centre is at the point

https://dl.doubtnut.com/l/_KOduQj7BHkHH
https://dl.doubtnut.com/l/_82G5PVt1tdjw
https://dl.doubtnut.com/l/_IsLO78M8M36v


A. (7/5, 5/2)

B. (7/4, 5/4)

C. (-7/4, 5/4)

D. (7/4, -5/4)

Answer: C

Watch Video Solution

38. If  and  cuts the axes in concyclic

points, then the centre of the circle, is

A. A. (2, 3)

B. B. (3, 2)

C. C. (5, 5)

D. D. (5/2, 5/2)

Answer: D

2x + 3y − 6 = 0 9x + 6y − 18 = 0

https://dl.doubtnut.com/l/_IsLO78M8M36v
https://dl.doubtnut.com/l/_jkry33w365Fu


Watch Video Solution

39. The line  intersects the curve 

 at the point P and Q. The circle on PQ as diameter

passes through the origin. Then  equals (A)  (B)  (C)

 (D) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

lx + my + n = 0

ax2 + 2hxy + by2 = 1

n2(a + b) l2 + m2 2lm

l2 − m2 4lm

n2(a + b)

n2(a + b)2

n2(a2 − b2)

n2(a2 + b2)

40. Two circles, each of radius 5, have a common tangent at (1, 1) whose

equation is . Then their centres, are3x + 4y − 7 = 0

https://dl.doubtnut.com/l/_jkry33w365Fu
https://dl.doubtnut.com/l/_CKMMMTgdHJ8c
https://dl.doubtnut.com/l/_6pxsYCn3HSGg


A. (4,-5), (-2, 3)

B. (4, -3), (-2, 5)

C. (4, 5), (-2, -3)

D. none of these

Answer: C

Watch Video Solution

41. PQ is a chord of the circle  whose mid-point is

(2, 2). The circle passing through P, Q and (1, 2) is

A. 

B. 

C. 

D. 

Answer: B

x2 + y2 − 2x − 8 = 0

x2 + y2 − 7x + 10y + 28 = 0

x2 + y2 − 7x − 10y + 22 = 0

x2 + y2 − 7x + 10y + 22 = 0

x2 + y2 + 7x + 10y − 22 = 0

https://dl.doubtnut.com/l/_6pxsYCn3HSGg
https://dl.doubtnut.com/l/_YOuEmpRErYTJ


Watch Video Solution

42. The number of circles belonging to the system of circles

 and orthogonal to 

, is

A. 2

B. 1

C. 0

D. none of these

Answer: A

Watch Video Solution

2(x2 + y2) + λx − (1 + λ2)y − 10 = 0

x2 + y2 + 4x + 6y + 3 = 0

43. If  is a centre of similitude for the circles 

and , then the length of common tangent of

the circles is

( − , − 1)
1

3
x2 + y2 = 1

x2 + y2 − 2x − 6y − 6 = 0

https://dl.doubtnut.com/l/_YOuEmpRErYTJ
https://dl.doubtnut.com/l/_r1X625GIfqZw
https://dl.doubtnut.com/l/_A5gmXJuzqXXU


A. 2

B. 1

C. 4

D. 5

Answer: B

Watch Video Solution

44. Statement 1 : The equation 
 represents,

for different values of 
 a system of circles passing through two fixed

points lying on the
x-axis.
Statement 2 : 
 is a circle and 
 is a

straight line. Then 
 represents the family of circles passing

through the points of
 intersection of the circle and the straight line

(where 
is an arbitrary parameter).

A. 

B. 

x2 + y2 − 2x − 2ay − 8 = 0

a,

S = 0 L = 0

S + λL = 0

λ

x2 + y2 − 2y = 0

x2 + y2 − 2x − 8 = 0

https://dl.doubtnut.com/l/_A5gmXJuzqXXU
https://dl.doubtnut.com/l/_WTP1aak0VoHw


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2y = 8

x2 + y2 − 2x − 2y = 8

45. x=1 is the radical axis of the two orthogonally intersecting circles. If

 is one of the circles, then the other circle, is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 4

x2 + y2 − 4x + 4 = 0

x2 + y2 − 8x + 4 = 0

x2 + y2 + 8x − 4 = 0

https://dl.doubtnut.com/l/_WTP1aak0VoHw
https://dl.doubtnut.com/l/_SN2ySF47sOuH
https://dl.doubtnut.com/l/_cRFzAol2OtrB


46. about to only mathematics

A. 2

B. -2

C. 1

D. none of these

Answer: C

Watch Video Solution

47. The circles :

A. cut orthogonally

B. touch each other internally

C. intersect in two points

D. touch each other externally

x2 + y2 + 6x + 6y = 0 and x2 + y2 − 12x − 12y = 0

https://dl.doubtnut.com/l/_cRFzAol2OtrB
https://dl.doubtnut.com/l/_DaVmZYgjAZ3A


Answer: D

Watch Video Solution

48. The equation of the pair of straight lines parallel tox-axis and

touching the circle  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2– 6x– 4y − 12 = 0,

y2 − 4y − 21 = 0

y2 + 4y − 21 = 0

y2 − 4y + 21 = 0

y2 + 4y + 21 = 0

49. The equation of the circumcircle of the triangle formed by the lines

x=0, y=0, 2x+3y=5, is

https://dl.doubtnut.com/l/_DaVmZYgjAZ3A
https://dl.doubtnut.com/l/_3yWzVXkwcxrm
https://dl.doubtnut.com/l/_ZIlM4etOJTWp


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6(x2 + y2) + 5(3x − 2y) = 0

x2 + y2 + 2x − 3y + 5 = 0

x2 + y2 + 2x − 3y − 5 = 0

6(x2 + y2) − 5(3x + 2y) = 0

50. The value of  for which the circle 

intersects the circle  orthogonally, is

A. 

B. -1

C. 

D. 

Answer: C

λ x2 + y2 + 2λx + 6y + 1 = 0

x2 + y2 + 4x + 2y = 0

11

8

−5

4

5

2

https://dl.doubtnut.com/l/_ZIlM4etOJTWp
https://dl.doubtnut.com/l/_EKgjNdf1y2Ad


Watch Video Solution

51. The equation of the circle concentric to the circle

 and having double the area of this circle,

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x2 + 2y2 − 3x + 6y + 2 = 0

8x2 + 8y2 − 24x + 48y − 13 = 0

16x2 + 16y2 + 24x − 48y − 13 = 0

16x2 + 16y2 − 24x + 48y − 13 = 0

8x2 + 8y2 + 24x − 48y − 13 = 0

52. If the angle of intersection of the circle 
 and 


is 
, then the equation of the line passing through

x2 + y2 + x + y = 0

x2 + y2 + x − y = 0 θ

https://dl.doubtnut.com/l/_EKgjNdf1y2Ad
https://dl.doubtnut.com/l/_NTojZRVojWtV
https://dl.doubtnut.com/l/_HccCAqptggEK


(1, 2) and making an
angle 
with the y-axis is
 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

θ x = 1 y = 2 x + y = 3

x − y = 3

π/6

π/4

π/3

π/2

53. The equation of the image of the circle  in the

mirror x+y=19, is

A. 

B. 

C. 

(x − 3)2 + (y − 2) = 1

(x + 14)2 + (y − 13)2 = 1

(x − 15)2 + (y − 14)2 = 1

(x − 16)2 + (y − 15)2 = 1

https://dl.doubtnut.com/l/_HccCAqptggEK
https://dl.doubtnut.com/l/_W3HHuAXbmkeY


D. 

Answer: D

Watch Video Solution

(x − 17)2 + (y − 162) = 1

https://dl.doubtnut.com/l/_W3HHuAXbmkeY

